W Sy Q7T I

GATE
ACCESSORIES

2024/2025



/




POSUVNE BRANY -
SAMONOSNE
CANTILEVER GATES

K

*
o A
/ &

T
"a’%
e = “‘n. -
— -

7 J
1S R -
) (C 7_7_7_7_7_7_7_7_7
=i
- -
-
. ’

POSUVNE BRANY -
KOLIESKOVE
ROLLING GATES

PRISLUSENSTVO
SLIDING GATES -
ACCESORIES

30-51



ZAVESNE BRANY
HANGING GATES

KRIDLOVE BRANY
SWING GATES

6 e HLINIKOVE BRANY
ALUMINIUM GATES

e PRISLUSENSTVO
ACCESSORIES

126-144



POSUVNE BRANY - SAMONOSNE
CANTILEVER GATES

/= SETY
SETS

O PROFILY
PROFILES

VOZIiKY
CARRIAGES

% PRISLUSENSTVO
ACCESSORIES







G

Go

woQg ulw

S3LVO H3IATTILNVYO

136x142

94x85

90x95 90x99

80x80

70x70

70x60

Aneay uzzyLX9€L-AS
Aneay giLx9EL-AS
OISe|o uzgyIX9€L-AS
JISe|d gy IX9€L-AS
Aneay uzg8xvy6-AS
Aneay G8xy6-\S
JIse|d UZG8Xy6-AS
oIse|d G8Xy6-AS

V-66X06-A\S

V-G6X06-AS

dlse[o-xoul 08X08-AS

Aneay uzp8x08-AS

Aneay 08X08-\S

olse|d uz-4908X08-AS
JIse|d dg08X08-AS

JIse|d 08X08-AS
NOTAN-OISE|]2 UZO8X08-AS
NOTAN-OISB|2 08X08-AS
JIse|d uz-dg0.X0.L-AS
OIse|d dg90.X0.-AS

JIsSe|d UZ0/Lx0.Z-AS

oIse|d 0LX0L-AS
NOTAN-O!ISB|2 UZ0.LX0.L-AS
NOTAN-OISB]2 02X0ZL-AS
OIse|o UZO9X0.L-AS

JISe|d 09X0L-AS

JIse|d UZO9X09-AS

JIse[d 09X09-AS

dlse[o-xoul 09X09-AS

NOTAN-OISEe|d UZO9X09-AS

NOTAN-OISE|O 09X09-AS

S13S

D (cm)

84
102
97

111

83

138

109
101
139
121

96

156
147
212

1

113
153

83
90
95

100
109

87

1

134

91
120

99
100

153

123

111

168
156
214

107

134
196

110
120

134

107
150

74
9

132

119
119
137
129

105

116
114
135
125

196

150
131

177

0

131
142
134

164
250

103

122

120

164
250

185
277

148

226

129

133

182
151
221

187
151
232

194
320
237
370
281

108
143

122

194
320
237
370
281
450

213
350

177

34

153 1
1

157
139

146

159

290
224
370
256

40

145
165

125

135
161

138
186
151

180
270
205
328
254
400

187
289
212

144
15

180
151
207

165

155

140

189

207
197
218
204
229
213
241

254
312

156

179
166

450

185
161

233

178

218
181

360
270
430

166

176

163

238 193 168
175
181

192
274

195

255

175
209

179

175

198
297

275
215
322
370

214

194
19
2

3

187
225
243
362
459
582

216
315
361

189
235
257
418

227
347

12

1

404

3

362

393
9
617

555

5
9
6

42
49
5

493

8

774

hmotnost brany bez samonosného profilu)/Approximate dimensions for private

Ga+Gr (Ga =

itie G(kg)

ne pouzr

Orienta¢né rozmery pre privat

using




Goptimal (Gmax.)

200 (400) kg

300 (600) kg

400 (800) kg

600 (1200) kg >600 (1800) kg

300 (400) kg

400 (600) kg

550 (800) kg

800 (1200) kg >800 (1800) kg

R
RN " 5

DRIFT-40-SMART

Se T

DRIFT-80-SMART

% =

—
v
A
E cAMET

jl = B8 <

BX-PLUS-AGS-ZKIT
BXV-4-ZKIT

CAME

|
camE "

jle= e

BX-STRONG-AGS-ZKIT
BXV-8-ZKIT

-
- o I

BKS-1200

nice I ™ o= TR ¢
price . ﬂ 8'ﬂ.u u
ROAD-400 ROBUS-1000 RUN1800-ZKIT
ROBUS400-BDKIT ROBO-600 ROBUSE00-BDKIT ROX-1000 THOR-1500
CAME

BKS-1800

BKS-2200

KEY c/:" _=! ..

o~

TURBOS50-ZKIT-R

o~

s 1 [
0= =

TURBOB8O0-ZKIT-R

istenie hlavného
privodu 10A

Hlavny privod 230V RASY
Mains supply 230V

<20m 3Cx1,5 CYKY
20-100m 3Cx2,5 CYKY

doraz koncového spinaca
limit switch stopper

pohonna jednotka
gate automation

riadiaca elektronika
control unit

prijimac¢
receiver

vysiela¢ dialk. ovladania
remote control

fotobunk:
photocells from street RX

z ulice RX

doraz koncového spinaca
limit switch stopper

.

7 -
—

»
=
<
G
O
<
a
5
%)

%)
4
o
g
=
e
>
<




MODEL Fe/Zn
60x60
L4m/Ge150kg

[]

SV-60x60 ECO-NYLON

SV-60x60 clasic-NYLON

SV-60x60Zn clasic-NYLON

H/34BP-4-60x60- H/14N-60x60 H/15P-60 H/258-60x60 H/02-60x60- H/02-60x60-
NYLON Fe-6000 Zn-6000
1x - -
1x 1x -
1x - 1x

MODEL Fe/Zn
60x60
L4m/Ga200kg

(]

SV-60x60-ECO

SV-60x60 clasic

SV-60x60Zn clasic

H/34BP-4-60x60 H/14N-60x60 H/15P-60 H/258-60x60 H/02-60x60- H/02-60x60-
Fe-6000 Zn-6000
1x - -
1x 1x -
1x - 1x

MODEL INOX
60x60
L4m/Ga250kg

[]

SV-60x60-ECO-INOX

SV-60x60inox-clasic

H8/34-4-60x60

H8/14N-60x60

H8/15P-60

H8/40-60x60

2X

1x

MODEL Fe/Zn
70x60
L4m/Ge200kg

CJ

SV-70x60-ECO

SV-70x60 clasic

SV-70x60Zn clasic

H/34B-4-70x60

H/14N-70x60

H/15P-70

H/40-70x60P

H/02-70x60-
Fe-6000

MODEL Fe/Zn
70x70
L4m/Gae175kg

L]

SV-70x70-ECO-NYLON

SV-70x70 clasic-NYLON

SV-70x70Zn clasic-NYLON

H/34-4-70x70-NY- H/14N-70x70 H/15P-70 H/258-70x70

LON
1x - -
1x 1x -
1x - 1x




MODEL Fe/Zn
70x70
L4m/Ge250kg

L]

SV-70x70BP-ECO

SV-70x70BP clasic

SV-70x70BP-Zn clasic

H/34BP-4-70x70

H/14N-70x70

H/15P-70

H/258-70x70
1x

H/02-70x70-
Fe-6000

H/02-70x70-
Zn-6000

M16X30

1x

1x

1x

8x

MODEL Fe/Zn
70x70
L4m/Gae250kg

L]

SV-70x70-ECO

SV-70x70 clasic

SV-70x70Zn clasic

H/34-4-70x70P

H/14N-70x70

H/15P-70

H/02-70x70-
Fe-6000

MODEL Fe/Zn
80x80
L4m/Ge200kg

[]

SV-80x80-ECO-NYLON

SV-80x80 clasic-NYLON

SV-80x80Zn clasic-NYLON

H/34-4-80x80-
NYLON

H/14N-80x80

H/15P-80

H/258-80x80
1x

H/02-80x80-
Fe-6000

H/02-80x80-
Zn-6000

1x

1x

1x

MODEL Fe/Zn
80x80
L4,5m/Ga250kg

[]

SV-80x80BP-ECO

SV-80x80BP clasic

SV-80x80BP-Zn clasic

H/34BP-4-80x80

H/14N-80x80

H/15P-80

H/258-80x80
1x

H/02-80x80-
Fe-6000

H/02-80x80-
Zn-6000

M16x30

1x

2x

1x

1x

8x

MODEL Fe/Zn
80x80
L4,5m/Ge250kg

[]

SV-80x80-ECO

SV-80x80 clasic

SV-80x80Zn clasic

H/34-4-80x80P

H/14N-80x80

H/15P-80

H/258-80x80

H/02-80x80-
Fe-6000

H/02-80x80-
Zn-6000

1x




MODEL INOX
80x80
L4,5m/Ge300kg

[]

SV-80x80-ECO-INOX

SV-80x80inox-clasic

H8/34-4-80x80

H8/14N-80x80

H8/15P-80

H8/40-80x80

MODEL Fe/Zn
80x80
L7m/Ge300kg

SV-80x80-ECO-HEAVY

SV-80x80 heavy

SV-80x80Zn heavy

H/34-8-80x80
-HEAVY

H/15P-80

H/258-80x80

H/02-80x80
-Fe-3000

H/02-80x80
-Fe-6000

H/02-80x80
-Zn-3000

H/02-80x80
-Zn-6000

2x 1x 1x 1x - - - -
2x 1x 1x 1x 1x 1x - -
2x 1x 1x 1x - - 1x 1x

MODEL Al
90x95
L4m/Ga200kg

[]

MODEL Al
90x99
L4m/Ge200kg

[]

10

(e

/

)




MODEL Fe/Zn
94x85
L6m/Ga300kg

CJ

SV-94x85-ECO

H/34B-4-94x85 H/14N-94x85

H/40-94x85P

H/02-94x85
-Fe-3000

H/02-94x85
-Fe-6000

H/02-94x85
-Zn-3000

H/02-94x85
-Zn-6000

SV-94x85 clasic

SV-94x85Zn clasic

MODEL Fe/Zn
94x85
L8m/Ga500kg

)

SV-94x85-ECO-HEAVY

H/34B-8-94x85-

HEAVY H/14N-94x85

H/40-94x85P

H/02-94x85-Fe-6000

H/02-94x85-Zn-6000

SV-94x85 heavy

SV-94x85Zn heavy

MODEL Fe/Zn
136x142
L9m/Ge600kg

CJ

SV-136x142-ECO

SV-136x142 clasic

SV-136x142Zn clasic

H/34B-4-136x142 | H/14N-136x142

H/40-136x142P

H/02-136x142-Fe-6000

H/02-136x142-Zn-6000

MODEL Fe/Zn
136x142
L11m/Ge800kg

CJ

SV-136x142-ECO-HEAVY

SV-136x142 heavy

SV-136x142Zn heavy

H/34B-8-136x142

"HEAVY H/14N-136x142

H/15P-145

H/40-136x142P

H/02-136x142H/02-136x142
-Fe-3000 -Fe-6000

H/02-136x142H/02-136x142,

-Zn-3000

-Zn-6000

11




[J

PROFILES

H/02-60x60-Fe-3000
H/02-60x60-Fe-6000
H/02-60x60-Zn-3000
H/02-60x60-Zn-6000
H/02-60x60-Zn-7000
H/02-70x70-Fe-3000
H/02-70x70-Fe-6000
H/02-70x70-Zn-3000
H/02-70x70-Zn-6000
H/02-70x70-Zn-7000
H/02-80x80-Fe-3000
H/02-80x80-Fe-6000
H/02-80x80-Zn-3000
H/02-80x80-Zn-6000
H/02-80x80-Zn-7000
H8/02-60x60-3000

H8/02-60x60-6000

H8/02-80x80-3000

H8/02-80x80-6000

AISI304 BNl

-

T H/02-70x60-Fe-3000
H/02-70x60-Fe-6000
H/02-70x60-Zn-3000
H/02-70x60-Zn-6000

T H/02-94x85-Fe-3000
H/02-94x85-Fe-6000
H/02-94x85-Zn-3000
H/02-94x85-Zn-6000

T H/02-136x142-Fe-3000
H/02-136x142-Fe-6000
H/02-136x142-Zn-3000
H/02-136x142-Zn-6000

-

H/02-80x80-Zn-D-7000
12

60

70

80

78

58

76

70

94

136

60

70

80

78

58

76

20

25

20

20

60 3,6 22

85

142

33

38

3000
6000
3000
6000
7000
3000
6000
3000
6000
7000
3000
6000
3000
6000
7000
3000
6000
3000
6000

3000
6000
3000
6000
3000
6000
3000
6000
3000
6000
3000
6000

100

78

78

35




‘ Quality Finish art.

Color L

H/02-90x99-AL-6000

H/02-90x99-AL-6000-R9005

RAL 9005 6000

H/02-90x99-AL-6000-R7016

RAL 7016

H/02-90x99-AL-7000

H/02-90x99-AL-7000-R9005

RAL 9005 7000

H/02-90x99-AL-7000-R7016

RAL 7016

10,2 @131

17.6
70
L

D
=

9
75
S A
N

H/01PVC..

eLO)

Quality Finish art.

Color L ‘

H/02-90x95-AL-6000

\4\04/
H/02-90x95-AL-6000-R9005 RAL 9005 6000 MW

H/02-90x95-AL-6000-R7016 RAL 7016 \W

H/02-90x95-AL-6000
(Aluminium profile)

A-FTT-M10 MI10, DIN1587 M10, DIN7380

M10, DIN912 MI0, DIN931 M10, DIN934 MI0, DIN931

VARIOUS OPTIONS FOR MOUNTING FRAME to ALUMINIUM PROFILE H/02-90x95-AL-6000

13

]

PROFILES



()
L]
0]
<
o
o
<
O

Quality Finish

Quality Finish

LxM16

- {.i_

Nam|

Iﬁr fml
E=()=a
[ M Y |

o
S
art. vd1d2ABCDEFQ
H/34-COVER
H/34BP-4-60x60
H/34BP-4-60x60-NYLON 128 50 50 165 44 145 115 60 13 omﬁ .
H8/34BP-4-60x60
H/34BP-4-70x70 130 60 60 195 58 200 152 55 17
H/34BP-4-80x80 132 68 68 203 61 200 152 56 18
ant. v vmaxdl d2 A B C D E -
H/34-COVER =]
H/34-4-60x60P 146 166 51 50 165 44 115 145 60 13 Y TVM
H8/34-4-60x60 optional | M/
H/34-4-70x70P 60 60 195 55
H/34-4-70x70-NYLON
S/t 0XB0k 150 170 200 152 55 17 -
H/34-4-80x80-NYLON 68 68 203 61
H8/34-4-80x80
H/34-4-90x95-NYLON 69,569,5206 62 hew

art. ‘

Quality Finish

H/34-8-80x80-HEAVY

14

()

169 - 189

120




CARRIAGES

@ue} X @‘@we

‘ Quality  Finish art.
190

H/348-4-70x60

144-159

i 20 |

153 17x25

80

Quality Finish art. ‘
H/34-4-70x60 | hew

Quality Finish art. v d2 A B (o] D E F G
H/34B-4-94x85 164 68 298 72 300 125 104 18 150
H/34B-4-136x142 263 113 470 103 470 210 150 17 200

15



250
100

2 © © © © T
N~
0
e o 0 a2
< | 8
o -t 3
m —
<
(@)
BSENSS

130 100

210

100

——
f | 3
- B — )
T
170
Quality Finish art. ‘
H/34B-4-90x99-NYLON \ new

250

100 62

m4

B)
)

74
®68
@)
\-"/4
(@)
N
O
@
&
@)
\--/4
1

—Te

[0}
[] ®15

130 100

100 17x25

— — i L N
e

Quality Finish art.
H/34B-4G-90x99-NYLON new H/66-15x25

H/66-15x25

16




400

Quality Finish art. ‘
H/34B-8-94x85-HEAVY ‘

1000

o
&
2 140
A
o
G 2
@ o 0 &)
| I 1l Il J—— Il | Il
g =& | =
T || Il Il J— I | | .
o @ @
500 450
1000

Quality Finish art.
H/34B-8-136x142-HEAVY

17

CARRIAGES



&

(@)
=
[
O
%)
[90)
L
@)
Q
<

30

190

y

40

180

‘ Quality Finish

Fe

art.

H/55-M16x250

Quality Finish

art.

carriages compatibility ‘

PVC - H/34-COVER

...60x60
...60x60P
...60x60-NYLON

18

new

250

M6

H/34-BK

H/34-4-70...
H/34-4-80...
H/34BP-4-60...
H/34BP-4-70...
H/34BP-4-80...

Z

H/55-M16x250




&

N
Ll
o
O
[}
(7}
L
O
@)
<

Quality  Finish art. //
H/65-40x40 new /

19



&

n
=
o
O
D
7]
L
O
o
<

H/14N-60x60
H/14N-60x60-R9005
H/14N-60x60-R7016
raw  H8/14N-60x60
H/14N-70x70
H/14N-70x70-R9005
H/14N-70x70-R7016
H/14N-80x80
H/14N-80x80-R9005
H/14N-80x80-R7016
raw  H8/14N-80x80

H/14N-70x60
H/14N-94x85
H/14N-136x142

Fe H/14N-90x95-NYLON
LICIK[or g raw | H8/14N-90x99-NYLON

20

70
94
138

RAL 9005
RAL 7016

RAL 9005
RAL 7016

RAL 9005
RAL 7016

new
new

¥
h

60

72

83

92

B

new
143 4 o
144 Mew
Mnew
new
49 pew

A

T

= [ |

C

o o ]

3| & | i

138.5

40

40




Quality

Finish

art. Color A B h s H
H/15P-60 -
H/15P-60-R9005  RAL 9005
H/15P-60-R7016  RAL 7016 74 5681 102
H8/15P-60 0
H/15P-70 B
H/15P-70-R9005  RAL 9005 90 55 35 100
H/15P-70-R7016  RAL 7016
H/15P-80 -
H/15P-80-R9005  RAL 9005
H/15P-80-R7016  RAL 7016 185 98 85 85 95
H8/15P-80
H/15P-100 )
H/15P-100-R9005  RAL 9005
H/15P-100-R7016 RAL7016 '° '08 65 50 108
H8/15P-100
H/15P-145 ) 225 150 75 80 105

Quality

Finish

art.

H/15P-55-90

Quality

Finish

art.

H/15P-80-NYLON

65

30

170

108

Mew .
Mnew
» L J
Mmew
Mnew
Mnew
sMew
Mnew
Mnew
@
=L ¢{p
&
H |
55-90
225
102
83

4

ACCESSORIES

H/16-46x130
H8/16-46x130

H/16-46x130
H8/16-46x130

21




&

(%)
i
o
O
D
7]
I
O
O
<

‘ Quality Finish art.

|_re | PR

Mount type
A

51

100

i
r -
)
)
i)
)
|)

\.
o
L.

A
-
[2=]

M8

Mount type
B

Quality  Finish

Fe H/40-94x85P

art. A B e Mount type
H/40-70x60P 70 60
53 A
94 85
H/40-136x142P 136 142 92 B

Mount type
B

Quality

Mount type
A
Finish art. A B e Mount type
H8/40-60x60 60 60
H/40-70x70P 70 70 53 A
H/40-80x80P 80 80
H8/40-80x80 76 76 62 B

=




-~
- -
XD7
; . 7\
@7 - : . . | .
o~
o~
‘ \o o/ il
‘ . 90 1.5
\_.‘.
n“'q
H8/40-90x99P :\
P\Ek{e’d raw H8/40-90x99P-R9005 black new -
H8/40-90x99P-R7016  anthracite | FveW H/02-90x99-AL...

74

e i

|

3
’
) 1
v
y
)
4

8 15
90

fany
N
fa
5
77
95
!

H/40-90x95P
Fe H/40-90x95P-R9005  RAL 9005 HeW
H/40-90x95P-R7016  RAL 7016 HeW

H/02-90x95-AL...

\ Z ZnaaE

SECTION P-P
p—

E2/258-40x40 40 40 4,8
E2/258-50x50 50 50 2
PVC Black H/258-60x60 60 60
H/258-70x70 70 70 6
H/258-80x80 80 80

23

4

N
=
c
O
[}
7]
L
O
O
<




POSUVNE BRANY - KOLIESKOVE
ROLLING GATES

@ KOLIESKA
WHEELS

% SPODNE VODIACE PROFILY
TRACKS

OBLUKOVA KOLIESKOVA BRANA
CURVED ROLLING GATE







€

WHEELS

-
—

\
-
¥

‘ Quality Finleh art. Colorr 9 H h R a b c s Gma&gpcs [, W NI T
H/31U-60 -
H/31U-60-R9005 RAL9005 58 75 64 17 85 27 55 200 hew
X H/31U-60-R7016 RAL 7016 5 new
H/31U-80C - 20
H/31U-80C-R9005 RAL 9005 o v/ - - hew
H/31U-80C-R7016 RAL7016 78 95 85 100 .. 70 300 hrew 1 H
NP .. H8/31U-80-R10 0 28
H8/31U-80-R10-NYLON 25 new
) H/31U-100 - 98 115105 8 22 132 102 400
‘H/31V-60 27
A W’} raw Hg/31V-60-NYLON 28 new
H/31V-60-R9005 RAL9005 8 75 64 78 o7 55 200 new
H/31V-60-R7016 RAL 7016 new
e H/31V-80C - /
H/31V-80C-R9005 RAL 9005 ) . T e
H/31V-80C-R7016 RAL7016 78 95 85 20 100 . 70 300 new
NIOOA . H8/31V-80
H8/31V-80-NYLON - hew
e H/31V-100 98 115 106 22 132 102 350

A

‘Quality Finish art. Coor 9 H h R a b ¢ s Gmeziéjpcs o W7 N
H/38U-80C -
o H/38U-80C-R9005  RAL 9005 8 20 1o
H/38U-80CR7016  RAL7016 78 37 28 135 250 y
H8/38U-80-R10 23
A 04 raw 10 == o
H8/38U-80-R10-NYLON 25 112
H/38U-100 98 40 32 8 22 150 127 300
) H/38V-80C
H/38V-80C-
/38V-80C-R9005  RAL 9005 5 28 20 a
H/38V-80C-R7016 RAL7016 78 135 112 250 y
H8/38V-80
asitld Y g/38v-80-NYLON 20
40 32 32
e H/38V-100 08 22 150 127 300

26



| ISBIN

€]

Quality  Finish art. % R D a ¢ L owm Gma/2pes o 4
(kg) Cil)
H/06U-60 o ® LA 200 |
H8/06U-60-R10-NYLON 10 24 Mew "'IJ
H/06U-80 =
8 20 55 10
H8/06U-80-R8 - V. -
78 28 300
H8/06U-80-R10 o 25
H8/06U-80-R10-NYLON 24 Mnew
H/06U-100 98 8 22 30 70 14 400
H/06V-60 58 17 200
H8/06V-60-NYLON . Mnew
H/06V-80 55 10 H]
H8/06V-80 78 - 20 300 Voo HH o L !
H8/06V-80-NYLON - 28 - rew | COF o i
H/06V-100 98 22 400 _L,
. 30 70 14 ——— A 1
H/06V-100-2 100 25 700
H/06H-50C 50 5 15 27 40 8 120 ,
H/06H-80C 78 7 20 28 55 10 300
78 28 o 28
M o !
N ~
=/ o =/
Q Q
YN
20 20
Quality ~ Finish art. R Gm?xjpcs N A
H/49U-80 8 250 oo B,
H/49V-80 - 250 - v
N RE=E)
(<o)
|
1 = I
185
278 7
4——'—!%
N [cO| (=)
IS *
85/ 160
~
3. O
Quality  Finish art. Gmax/2pcs (kg) N —1
H/31V-2-80 HEAVY 600 . v -

27



L 6000

L50) 10x290 (100 )
I I
| L | L
— | | € [
VAT VAT
= Pk Pk
— ) & & & [ &
I I
3
_l
L 3000
H/39V-...
H8/39V-...
o G
© “
[ ]
a a
T 1 T 1
H/39U-...
H8/39U-...
Quality  Finish art. a h R L [ o W7 NI \5/
H/39U-3000 3000 ;
e 60 46,5 8
H/39U-6000 6000
H8/39U-3000 3000
AISI304 BE 55 40 10
H8/39U-6000 6000
H/39V-3000 3000
H/39V-6000 6000
60 46,5 5 - v
H8/39V-3000 3000
A 04 raw
H8/39V-6000 6000
art. ) PW) | "N INPUT: 230V AC
DEVIICEGUARD 18 230V 18

Vyhrievaci kabel/Heating cable

‘ art.
‘ Devi 19400126

new

Spojovacia sada/Connection set

28

L &

"N INPUT: 230V AC




629

‘ Quality  Finish art. g W N ‘
IEEN - 50v630c0r - hew u
'—
D<
O
w
109 >0
= 2 ol %§
= (@
1 - :ﬂff e O
= e - 42 =
p— ~F laa)
= u
v i an NI
\A |
= @% © MIOX60
i
. 3
.
Quality Finish art. %] h A g N ‘ ‘Oualily Finish art.
H/31U-60-SP | 58 67,5565 ew IEEN o4 /91-037 hew
H/31U-80-SP 78 87,5 76,5 hew 40

46
O

115

(@) -
C e .

Quality Finish art. %) h A i W N ‘ Quality Finish art.
H/31U-60-PL 58 85 100 \Mew D4/92-D37 hew

H/31U-80PL 78 103 130 hew

31

40

29



POSUVNE BRANY - PRISLUSENSTVO
SLIDING GATES - ACCESORIES

HORNE VEDENIA
UPPER GUIDE BRACKETS

@a 10]~7. VA
STOPPERS
;I_—;] ZAMKY
LOCKS
@

HREBENE
RACKS

~ TELESKOPICKY SYSTEM
TELESCOPIC SYSTEM







& %

|
I

I *, * 30 | 25-65 NYLON

H/12-4T -
Fe H/12-4T-R9005  RAL 9005 140-180 140 53 10 35 12 MeW
H/12-4T-R7016 RAL 7016 new
H8/12-4T - 135-175 155 56 16 58 14

4

AISI304 IRl

|S5)
B
|S5)
B
I
8.

110

w
S
Ol
rx
wo
o <<
o oC
om

" il

3 0-90 @30

H/12:4

L M
£ | 0 0l -
— = ™ S
‘éf’ —— . ) =
(= 5 ‘
i 0 E NYLON t
S
( ]
( ]
H/12-2 165 - 68 - 41 2565 - - 64 - 16
H/12-2S
H/12-2S-R9005  RAL 9005 new
15 57 11 30 3585 14 36 60 34 12
H/12-2S-R7016  RAL 7016 new

H8/12-2S -




ﬁ : 5& 155
: 3
&
o)
m = TE Lal
NN
5 125
150 )
[ X i
Quality Finish art. Color
H/53-2 -
H/53-2-R9005 RAL 9005 | e o
H/53-2-R7016 RAL 7016  HEW -

H/53-30W

M12

£ |

m
=1
Oy
rx
wo
o <<
oo
om

60
35

\—:[‘
16-63 30 40
Quality  Finish art. \i
H/53-30W U/40x40
3%
iﬁmﬁ 2 PLASTIC
195
R
e |
\ MI0 "
~ 105
I
30 - 45 40

Quality  Finish art. Color ‘

|

H/53-R9005 RAL 9005 ew
ew
|

H/53 -
U/40x40
H/53-R7016 RAL 7016

H8/53 -

33



100 31

100
76
—C
| —
[

N : i PLASTIC
A =
= % e
0-190 (L]
Quality  Finish art. ‘
H/52-2
100 314
76
e N N Jaa)
O - @
gy 8|2 e - - - - - )
FanY _
W \Q/ ip
I 40 230
= %
39 & s
(DLIJ Quality  Finish art.
n:é =
L » H/04-25-W, H/04-30-B H/04-30-W
o< B B2 0y H/04-32-W.  H/04G-43
%% INGRLEY) raw  H8/52-40x40 H8/04-22-W, Hg/04-32-W
.
\
y/d <
|
b
Quality Finish art. bxh t L
v
A/6900-024-2500 2500
IEEE 08x26 2~ HB/04-22-W
P A/6900-024-5000 5000
A/U40x40x3-3000 3000 new
A/U40x40x3-6000 6000  H/04-30... W
U/40x40x3-3000 40x40 3000 H/04-32-W
U/40x40x3-6000 H8/04-32-W
ALUMINIUM natural AL/U40x40x3-6000 , 6000 hew
Jene— A/U50x50x3-3000 3000 new
raw A/U50x50x3-6000 6000 H/04-42.. W
. U/50x50x3-3000  50x50 3000 H/04G-43
€ U/50x50x3-6000 H/04L-42
ALUMINIUM natural  AL/U50Xx50x3-6000 6000 hew
AL/RP6001-..
. 3
‘\
L 4000 16,8 35
‘ Quality Finish art.
v
| AWUMINWM  natural | AL/RP-6005-6000-N  H8/04-32-W, H8/04L-35 | el

34



B3

RUBBER

PLASTIC

78

4

Fe H/04G-43 U/50x50
- X
I\CIK[eZ} raw  H8/04G-43 new

P

l\ PLASTIC

==
i Hy
o

50

BEARING
Fe H/04L-35 U/40x40
INEIEGY] raw  H8/04L-35 AL/RP-6005-6000-N | faeM/
]
M |
‘ o NYLON
|
=
M

e -

H8/04-22-W White - 22 A/6900-024-..
H/04-25-W White - 25 -
H/04-30-W White

H/04-30-B Black ) s 72 U740x40
H/04-32-W White ) .

H8/04-32-W White AL/RP-6005-6000-N
H/04L-40-W White v/ 40

H/04-42-W White ) o 90 e U/50x50
H/04-42-B Black

35

m
=1
(OJY
rx
wo
o <<
oo
om




&

w
=t
(O
rx
wo
o<t
o oC
om

>

L
L~ J

Quality

Finish

art. Nylon Color A D L M
H/21-76W 95 76
62 1/2¢
H/21-152W White 168 152
H/21-250W 265 41 250 16
H/21-305B Black
320 66 305 1/2¢
H/21-305W White

‘ Quality  Finish

art.

AN - /20v

‘ Quality  Finish

36

art.

IR /s7-55-00

$

)

46

~_NYLON

M16

RUBBER

V2227

V

A
— -
— —
@z |

722

M

[\

=
'VII/I




w

RUBBER

%3 B

o

c M12
Quality  Finish art. Color b c B
H/37-40P -
H/37-40P-R9005 RAL 9005 new
0 83
H/37-40P-R7016 RAL 7016 new
H8/37-40P
H/37-60P H/16-46x130
H/37-60P-R9005 RAL 9005 new H8/16-46x130
50 103
H/37-60P-R7016 RAL 7016 new
H8/37-60P
H/37-80P 80 60 123 W
[m)
20
O
rx
A 19 585 le)
o<
oo
& ) . om
N
4 %*Q
r —————————N
%
2 gl 2
Y e———
L |\ E———
= @
174
™
‘ Quality Finish art. Color - Ly
H/16-46x130 -
Fe H/16-46x130-R9005 RAL 9005 HeW

H/16-46x130-R7016 RAL 7016 HeM
INSELYY raw  H8/16-46x130 -

-
;ﬂ ‘ 130 o] <
} \ J
Lf._. cc————— ; O% .
< 8| I ——— B Q
> &

4 T

i
80 15

174

95

Quality  Finish art.
H/16-40x130-S eW




60

i

34

]

80

| -
a~
w ®
\x‘§/
. ;?L
o0 !
P— - B
H/10B-60x130 - N
Fe H/10B-60x130-R9005 RAL 9005 H#veM 7
H/10B-60x130-R7016 RAL 7016 HEW — 0
INSELYY raw  H8/10B-60x130 - —
50
(%))
o
L
o
o
O
|_
[dp)
T
~
& Q\
W
(/
[

56
80

H/10B-50x80 - 76

Fe H/10B-50x80-R9005  RAL 9005 veW 100

H/10B-50x80-R7016  RAL 7016 HeW

LT

@45

77-117

73
0105

)

e~
‘
: |
O— J*
N
65
_H/10B—50x120 new o9s

38



Quality Finish art. ‘
H/10B-35x46 hew

_\\\“\-.
N ‘

e o]

Wi

)

Quality  Finish

art. ‘

H/10B-130x85-SPRING \W

art. ‘

Quality  Finish

H/10BP-150x92-SPRING \W

35

35

0100

92

!
8
. 1 |
I
oo |
T __lLI Q '%
=D o ! Y
- 120 -
115 - 150
Bz
7 S}

39

=

STOPPERS



=5

STOPPERS

RN +/ 108P-50x100

Rubber black B1/16G

Rubber black B1/16G-B

40

@27

85

E

i

RUBBER

)

e

45

P40
3105

RUBBER



40 40

© & $|{

260

205

Quality  Finish art.
raw  H/46-40x40

)

200

72

21

Quality Finish art.
raw  H/46-60x40

0 .
| D - - - D17 D17 D19 - 19 D19,5
U/\/> Hmax 26 15 18 15 17 17 15 30 35
! Model = KOT K02 KO3 K11 K12 K13 K21 K22 K23
H/35K v v
H/36-30K v v v v v
= H/36-40K v/ v v v v v
€« H/36-20K v v
H8/36-20K v v
H/46-40x40 v
H/46-60x40 v v v v v

41



LOCKS

Quality  Finish art. l

H/35-64A H/35-K

Quality  Finish

. H/36-30A 56 27  H/36-30K
e
H/36-40A 66,5 37 H/36-40K

Quality  Finish art. l
H/36-20K
“/ SRR nesasaok

42

188

all

100

72
130

120

36

180

25

185

e ¢ ==1® §]

168

(DS

© 4

160

©

(@




78 40

7

2
170

ao

N B|E
+
B

H/36-30K 60 27
Fe raw
H/36-40K 80 37

40

200

/
. - HJZ}

Fe raw H/36-20K
CEE] satin = H8/36-20K
43



Steel rod

q |
WAV
2 [
H/01PVC-J-BS ¥ 1 “‘I
65 195,
628 2889 3014 2889 628
1005
H/01PVC~J
Quality  Finish art. Module Gmax(kg) H/O01PVC-J-BS H/01PVC-FS-J
H/01PVC-J-BS ; -
X
PVC raw H/01PVC-J 4 300 1x
H/01PVC-J-2PACK 2X 2x Mnew
1017
H/01PVC-BS A
/ = |8
N Jh
20
20
H/01PVC
Quality  Finish art. Module Gmax(kg) H/O01PVC-J-BS H/01PVC-FS-J
H/01PVC-BS ; -
X
PVC raw H/01PVC 4 700 1x
H/01PVC-2PACK 2x 2x Mnew
H/01PVC-S-BS
1018
Steel rod 65 ‘
&
8 1
20!
195
H/01PVC-S
Quality  Finish art. Module Gmax(kg) H/O1PVC-FS
H/01PVC-S-BS -
PVC raw 4 1200
H/01PVC-S 1x

44



1018

2386 1005 - 2386 _ . W05 286 _ 512 Steelrod
s i ‘ l L
H/01PVC-UP-BS h H ﬂ—ﬂ ) H ) ﬂ—ﬂ m ) @ X _
I e ST
| | | 2
3

B
b ng’z&o

H/01PVC-UP
Quality Finish art. Module Gmax (kg) H/O1PVC-FS
H/01PVC-UP-BS -
PVC raw 4 700 -
H/01PVC-UP 1x

27.6

eﬁﬁ"‘@@ » i ] e

.
H/O1PVC-FS 0 H/01PVC-FSJ

Quality Finish art.
H/O01PVC-FS
H/01PVC-FS-J Mnew

.
| o~
™ ™M
H/01PVC-...
. . k
Quality Finish art. ﬁ?ccluggg
ove A19/01PVC-05 5 \W GATE FRAME
raw ~  Bpcs
A19/01PVC-10 10 ew

45



Quality Finish art. Ci:lga)x
NYLON - H/01PVC-AL 300

22

490

1008

1008 1168

215

i |
e R e = |

48

_ ' /1/::
VAVAV NV AVAVIEVAVAVAVAY

15
212

120

6x4933

> h—-
™~ | 5 -
AL/RP-6004-... H/O01PVC-AL-K
[ o
125 |

H/02-90x99-AL

STOPPER SCREW SET
(H/01PVC-FS-AL)

Quality Finish art.
H/01PVC-AL-K
‘Quality Finish art.
Fe H/O1PVC-FS-AL | Tew
53,8
41,8
@
Bl ﬁ
e}
ﬁ == 1 I
S 4
> \i
==
88
6000
‘ Quality Finish art.
AL/RP-6004-6000-N new

46

AL/RP6004-..
H/01PVC-FS-AL

AL/RP6001-..

H/01PVC-FS-AL




1005

! 525 450 450 525 L, b
W
Y A Il N | |
A, ] D b i e

i ‘wprf\; 3 o N jcf i :GD: : ! :(':): R
. : : A 11 1l
i i i i k?*asz\s/ AN

: 5,

= 3 L EN
Quality  Finish art. Module hxb Gmax (kg) i ‘

H/01Fe-30x8H ‘

30x8 1200
H8/01-30x8H ‘
4 3x
H/01Fe-30x10H 30x10 1500 ‘
H/O01Fe-30x12H 30x12 1700 ‘
1000

8

SECTION A-A
Za

Quality  Finish art. Module Gmax (kg) i ‘

H/01Fe-30x30H 6 5000 : \

e =

Quality  Finish art.

H/01Fe...

81 215
N N /O’
< 1T
_ Jr _ -
T =% =
I
I
26
Quality Finish H/01Fe...

47



(7]
L
<€
(O]
)
o
(@]
(@)
(7]
LL
—
L
|_

I 7s-c2 5

Fe

3500
4000
4500
5000
5500
6000
6500
7000
7500
8000

raw

AISI304

ALUMINIUM natural AL/U40x40x3-6000

48

2690
3060
3440
3810
4190
4560
4940
5310
5690
6060

U/40x40x3-3000
U/40x40x3-6000

A/U40x40x3-3000
A/U40x40x3-6000

8000

900
1020
1150
1270
1400
1520
1650
1770
1900
2020

|
|
‘Vl/ o
|
‘ 40 I
‘_Fggj::H_Hi

3000
P raw /206000

6000
3000 AEM/

6000
new

SV-... H/10B...
U/40x40x3-..
A/U40x40x3-.. A/20-6000
AL/U40x40x3-..
H/37..
6000




ALUMINIUM

4 4,6
4,5 4,95
5 5,2
5,5 5,45
6 5,7
6,5 5,95
7 6,2
7,5 6,45
8 6,7

ISR s c25u

4
4,5

5,5

6,5

7,5
8

4,6
4,95
5,2
5,45
5,8
6,05
6,3
6,55
6,8

LS2
E2
7 ]
I —
min. 80 L | ]
Z1
El
LS1
’;9 o c" o
!
natural TS-C2-8-AL 8000 = HeW g ?
SV-90x95-AL H/02-90x95...
2,6 21 3,4 1,4 1 125 250
2,7 2,2 3,75 1,5 1,1 120 240
2,7 2,2 405 155 1,15 115 230
2,7 2,2 4,35 1,6 1,2 110 220 ~ ';., -
2,7 2,2 47 1,7 1,3 105 210 ) T
2,7 2,2 5 1,75 1,35 100 200 >
2,7 2,2 53 1,8 1,4 95 190
2,7 2,2 5,65 1,9 1,5 90 180 HE/10B... He/12... He/s7..
2,7 2,2 6 2 1,6 85 170
oy ~7:r
8ooo0  hew i .W
SV-80x802Zn clasic | |H/02-80x80-Zn...
2,6 21 3,4 1,4 1 150 300
2,7 2,2 3,75 1,5 1,1 145 290
2,7 2,2 405 155 1,15 140 280
27 22 435 16 1,2 185 270 * o
2,8 2,3 4,7 1,7 1,3 130 260 ) T
2.8 2.3 5 1,75 1,35 125 250 >
2,8 2.3 53 1,8 1,4 120 240
2,8 2.3 5,6 1,85 1,45 115 230 H8/10B... He/12... He/37..
2,8 2,3 5,9 1,9 1,5 110 220

49

[7p]
L
<C
(O]
)
o
O
O
(7]
L
—
L
|_




(7]
L
<€
(O]
o
o
(@]
(@)
(7]
LL
—
L
'_

IIHHIIIIIIII

50

3000
4000
5000
6000
7000
8000
9000
10000
11000
12000
13000
14000
15000

TS-S2-4-N
TS-S2-8-N
TS-S2-15-N

1890
2390
2890
3390
3890
4390
5140
5640
6140
6640
7140
7640
8140

4000 new
8000 new
15000 new
350 300
600 400

1|4

o
T |

»
Ll

i |

N
H/39V-... H/39U-
H8/39V-... H8/39U-...
—_——
\ | et
3 S~ 4
s ao P-. ‘
2. &Y
o W N I, U\
H/38... H/31..
H8/38... H8/31
H/37... H/10B...




RN s 5315

3000

4000

5000

6000

7000

8000

9000
10000
11000
12000
13000
14000
15000

1380
1710
2040
2380
2710
3040
3630
3960
4290
4630
4960
5290
5630

15000

2x

350

600

200

H/39V-... H/39U-...
H8/39V-... H8/39U-...
; -
| N\ ~—7
Q W | = Al
- o/
N "= D g W
H/38... H/31...
H8/38... H8/31...
.
& !_
U/40x40x3-..
A/U40x40x3-..
H/12... AL/U40x40x3-..

s

H/10B...

51

(7]
L
<
O
o
o
(@]
(@)
(%]
L
—
L
|_




ZAVESNE BRANY
HANGING GATES

PROFILY, VOZIiKY
TRACKS, CARRIAGES

PRISLUSENSTVO
U?  ACCESSORIES







Quality  Finish art. a b t s L

H/18-33x34-Fe-3000 3000

H/18-33x34-Fe-6000 6000
33 34 2 10

raw

H/18-33x34-Zn-3000 3000
H/18-33x34-Zn-6000 6000

raw H/18-42x54-Fe-3000 3000 =
H/18-42x54-Fe-6000 6000 l

H/18-42x54-Zn-3000 3000 L
42 B4 25 12—
H/18-42x54-Zn-6000 6000 H/18... H/a7B... H/a7v..
raw H8/18-42x54-3000 3000 H8/18.. | H8/47B.. | H8/47V..
H8/18-42x54-6000 6000
L3000 5x
H/18-57x67-Zn-3000 5 o7 5 s 3000
H/18-57x67-Zn-6000 6000 L6000 9x
2x Bearing
_ £
-
[eERS)
[oERS)
% T - ‘
M
i
(7]
o)
=<
Lo
o Quality  Finish art. M h Gmax/2pcs
< ! (kg) 0
O H/07-33x34 8 35 60 33x34
H/07-42x54 12 72 200 42x54
H/07-57x67 20 85 400 57x67
4x Bearing

M
Quality Finish art. M h Gmax/2pcs U
(kg)
H/08-33x34 90
8 3 ——— 33x34
H/08-33x34-NYLON 60
H/08-42x54 68 400
H/08-42x54-NYLON 12 200 42x54
H8/08-42x54 58 500
H/08-57x67 700
20 85 —— —— 57x67
H/08-57x67-NYLON 350




r.
H/26-33x34

H/27-33x34-NYLON

rt.
H/28-33x34

]

@5

92

55

V2

S0
o]
<
L oc
ol
<<
RS




&
8 //

%)
=
i
O
%)
%)
L
(@)
Q
<

60

60

d
M
[
- Ham
P
| N— —/
a
Quality  Finish art. a b d k e M U
H/47B-33x34 42,5 48,5 9 26 35 8 33x34
H/47B-42x54
4 53 72 a7 a2x54  OX/L3000
H8/47B-42x54 11 30 10 9x/L6000
H/47B-57x67 66 86 42 57x67
~
[ il
- &
A
4 ~\
N
|
) | =
T
20
\ S/
Quality  Finish art. A a b s M D
H/47V-33x34 110 42,5 48,5 70 8 33x34
H/47V-42x54 5x/L3000
120 53 72 80 42x54
H8/47V-42x54 1 9x/L6000
H/47V-57x67 130 66 86 94 57x67
[ ]
f
U
L
=
T H
e I —
a
Quality  Finish art. a b M U
H/23-33x34 42,5 48,5 8 33x34
H/23-42x54 52,5 72 42x54
H/23-57x67 66 86 57x67

60

T 17

000




HARDENED RUBBER

[ TT

AH @
1
|

Quality  Finish art. a b c U
33x34
= H/22 42 22 25 49x54
H/22-57x67 59 40 40 57x67

Quality  Finish art. M a b d H D
H/48-M8 8 100 20 4x6 20 33x34
H/48-M12 12 150 25 6x6 24 42x54
H/48-M20 20 150 40 4x10 32 57x67

10
I @\% D
/@»A/

s %)
@ "
o
@]
)]
o (90}
L
‘ O
[ \ ] &)
\ <

& i BRASS

Quality Finish art. ‘ ‘
Fe + Brass H/60 ‘ 30
—
83
33
25

Quality  Finish art. L
H/59-Zn-3000 3000
H/59-Zn-6000 6000

57



60
3 |
T

Quality Finish art. L
H/02-70x60-Fe-3000 3000
H/02-70x60-Fe-6000 6000
H/02-70x60-Zn-3000 3000
H/02-70x60-Zn-6000 6000

52
125
i
|
2

H/08-70x60B H/08-70x60S

%)
=
i
O
%)
%)
L
(@)
Q
<

|
175
‘ Quality  Finish emax [J %

H/08-70x60B 100 7060
H/08-70x60S X H/48-M16

@fe;}@
i

—D-
&

@e%@
&

47

-

‘ Quality Finish art.

IR 1 2wt
58




140

17 | RS
X D125 F—j
lo}
[=]
o T Mi6
T 0 E
"
Quality  Finish art.
H/47B-70x60
) -
O

N
283

n
L0
o
O
D
7]
L
O
O
<

Quality  Finish art. %] Gmax/2pcs (kg)
D16/77-60 Flat 50




KRIDLOVE BRANY
SWING GATES

g
g
&

i

ZAVESY FLEX
FLEX HINGES

ZAVESY FLEX - ATYP
FLEX HINGES - ATYPICAL

ZAVESY FIX
FIX HINGES

ZAVESY PRE ALU BRANY
HINGES FOR ALU GATES

DORAZY A ZASTRCE
BATTENS & LATCHES

-~ ZAMKOVE SETY, KRABICE

LOCK SETS, BOXES

ZAMKOVE DORAZY
SHRIKING BOXES
ZAMKY

LOCKS

KOMPATIBILITA
COMPATIBILITY
KLUCKY
HANDLES

STITKY
LOCK COVER PLATES







- SCREW/WELD

55
35 B
'\Q?”
N g
N2
el g o | =
‘ Fe / Inox
A-\ i
SR
S
Quality  Finish art. Color M B e S Gmax/2pcs
(ka) f
LT T 12 5663 27 20 40
D8/53-M12-K - ) Mnew Q5/09-Quick-Fix QF5
D4/53A-M16-K
D4/53A-M16-K-R9005 RAL 9005 16  64-75 33 29 60 new
D4/53A-M16-K-R7016 RAL 7016 new
h1 B
a
)
Ao
sy Va
o % ‘
— .
ol ] @ < = FFellnox
=
pany pany
o o
s
Quality ~ Finish art. Color M B hixh2  a b e Gmax/2pcs
(kg)
D4/53-M16-K -
D4/53-M16-K-R9005  RAL 9005 64-75 33 29 hew
16 80x80 55 55 60
D4/53-M16-K-R7016  RAL 7016 hew
D8/53-M16-K 64-80 36
D4/53-M18-K 18 64-85 90x90 68 68 %0 80 f
D4/53-M20-K - 74 74 43 o
=) i 20  69-90 100x100 100 Q5/09-Quick-Fix QF5
\ D8/53-M20-K 75 75 35
D4/53-M24-K 24 79-115 120x120 90 90 50 35 150
HSq - SCREW/SCREW
4x$ 10,5 30 cxd
s : ]
? /I\j} : |
00 / ) \ v o [ /—'—'7
R EUNRNZA 7/ R A S
|
Al ‘ i
eop : !
35 B
55
. . Gmax/2pcs
Quality ~ Finish t. M B d
uality nis! ar CX (kg)
D8/53F-M12-K 12 50-70 6x16 40 Hew «
D8/53AF-M16-K 16 70-85 8x18 60 hew Q5/09-Quick-Fix QF5

62




ler=r igisg - SCREW/SCREW

h1 A B =
TN /] I
kv ./
2lo | © = (©
- fan)
=5~y U

Quality  Finish art. z M B h1xh2 e Gmax/2pcs
(kg)
D4/53-M16-30x30  30x30
16 5575 80x80 46,5 38 200
D4/53-M16-50x30 5030 new
D4/53-M20-40x40  40x40
20 6585 100x100 51,5 48 300
D4/53-M20-60x40  60x40 new
100 90-130
75

NS %

100
75
43

M20
!
—L
L

Yo

D

. . Gmax/2pcs
Qualit Finish t.
uality Inis ar (kg)
D4/58-M20 100
30
i
|
I
)
|
|
I
o
[se}
30
. . Gmax/2pcs
Qualit Finish t.
uality nis ar (kg)
D4/45T-30 100

63



o=l IS - SCREW

art.
D4/26A-M20

Quality  Finish

Quality  Finish art.

D4/26B-M16 Mnew

Quality  Finish

art. c d
D4/30-30x90x3
D8/30-30x90x3 6 e
D4/30-30x90x5

- 8 18

D8/30-30x90x5

64

&

100
75
. -
N
N4
M20
fany
\e%
N Ll
55
M6
30
d
—D|o s
1918 b
) .
. . D4/19...
| P- 4 D4/22...
T I D4/58...
Q 1 L D8/19...
Q-\ t D8/22...
D8/53...

D4/30-30x90...
D8/30-30x90...




o=l iguSd - WELD/WELD B
>
w el Ca ™ Fe / Inox
S
Quality  Finish art. M B d D e Gme(l)liijpcs
LR Ta 12 4553 22 40 27 20 40
D8/22-M12-K new
D4/22-M16-K 54-65 29 33 29
16 46 60
D8/22-M16-K 54-75 30 35
D4/22-M18-K 18 64-75 36,5 % 80
D4/22-M20-K 64-80 35 52 42
20 R 100
D8/22-M20-K 59-80 35
55-90
F—, [ W
g 88 R NI
s 3 | i
| % || |
ke B
| ] Ha
. . Gmax/2pcs
Quality ~ Finish t.
uality nis| ar (kg) L]
D4/22-M20R 100 \
o=l IgiSd - WELD/SCREW
i |
[0} [m] = -1
%} 9 vE[H
1 |
L_I7J
[ S -—
Quality  Finish art. 7l M d D e Gmax/2pcs
(kg)
D4/22-M16-30x30 30x30
16 5575 25 52 46,5 38 200
D4/22-M16-50x30 50x30 Mhew
D4/22-M20-40x40 40x40
20 65-85 29 60 51,5 48 300
D4/22-M20-60x40 60x40 Mnew

65



-WELD/WELD

o | & o] =
S
Quality  Finish art. M B d D e s Gmax/2pcs
(kg)
D4/19-M12-K 12 44-55 18 22 26 20 40
D4/19-M16-K 16 49-60 22 25 33 29 60
D4/19-M18-K 18 54-70 23 28 36 30 80
D4/19-M20-K 20 59-70 26 30 43 30 100

] - —

] A : ,
i

Quality  Finish art. M B d D e S Gmax/2pcs
(kg)
D8/19-M12 12 35-60 18 22 24 16 40
raw D8/19-M16 16 40-60 21 29 28 20 60
D8/19-M20 20 50-70 25 31 37 29 100

e FU=4 - WELD/SCREW ol ° 2[[

Quality ~ Finish art. M o B C D d e Gmax/2pcs
(kg)
D4/19-M16-30x30 30x30 Mnew
16 4560 38 29 22 46,5 38 200
D4/19-M16-50x30 50x30 hew
D4/19-M20-40x40 40x40 new
20 50-70 43 31 25 51,5 48 300
D4/19-M20-60x40 60x40 new

66



-WELD/WELD

50-75

37
1

M
N
34
25
M20

Fimal

31 \
Fe

Fe

Quality  Finish art. Gmax/2pcs (kg)
D4/19-M20-N1

100

52-85

30
@25
M20

ANAF
|
i

Fe J\

Fe

Quality Finish art

i
. Gmax/2pcs (kg) .
D4/19-M20R

100

67



- SCREW/WELD

««f(u%j

Ao | TEEEE——DY
v
Quality  Finish art. M B s szzﬁgipcs
D8/67-M12 12 40-125 27 20 40 rew
D8/67-M16 new
16 54-167 60
D4/67-M16 40 30
D4/67-M20 20 62-160 100
S CNRY - SCREW/SCREW
190
: —J _l_l
131
O
S —
210,5
Quality ~ Finish art. M Gma(‘igpcs 40
raw  D8/67F-M16 16 60 new
100 45-75
= I
fan] — L
| \/
~
I M2 \Fe
30
| 15 %

Gmax/2pcs (kg)

Quality  Finish art.
D4/63-M20

100

68




s EESENRE] - WELD/WELD ’

— ] - | —
|l EE=D

[ ] — I_Q‘y_l

A f

180°

\
I\.Fe / Inox Fe / Inox

closed
Quality  Finish art. M A B t Gmax/2pcs
(kg) -
D4/64-M16 -o-
d 16 100 60-170 8 60 H=o i

D8/64-M16 rew . o 5
D4/64-M20 \ 180° opened |} | 180

20 120+ 65-160 10 100 " ::
D8/64-M20 ew A i

en=l IO - SCREW/SCREW

180° &

‘\\

90

6k
5
6|

M
Q|| ©
50

Quality  Finish art. Gmax (kg) ‘
D4/75-M16 60 \ new 168

69



- WELD/WELD

o
<t
82
49 -73
£
N
ok 8
1 T
e
HEAVY DUTY u“’)
™|
Quality  Finish art. Gmax (kg)
D4/52 250 ®44

30
=

P R R 2
PR EEE R R
sesseeee
sessss e
tesseeee
20 ssssssss
83 *esscssee

10 tescesse

~ min. 925 frrocsie
- e 40 teessss e

max. 1025 grtrecs e

*ssss00 e
b B R Y
*rsssea e
*r*sss00 e
*te s e 0.
bbb PP
Ml S S

at 1

G
10

10

56

D4/52

Quality  Finish art.
D4/52-K

D4/52K

o e
10

70



ler=n IS GNEEY - SCREW/WELD

fa o1 |
83
51-64
N
,\ik o
@30
=
=
k1
S
]
7
2
Teaby T = 1
»,
= 74
[ J
51-64
83
HEAVY DUTY o0 |
Quality  Finish art. Gmax(kg)‘ =T &
D4/52-D50 400 ‘ 1T
117
) ‘ 75-90

&
[}

70
L

ylllllllllll//

o uel =

30
50x50

5
3%

70
25 _10

HEAVY DUTY ﬂ
‘Quality Finish art. Gmax (kg) ‘ O ‘ O

Fe D4/52P-D40 300 e L

71



FLEX-ATYP

100

210x20

Gmax/2pcs (kg)
80

art
D4/83-40x40-GREY

Color
grey

Finish
raw

Quality

Gmax/2pcs (kg)
80

art.

D4/84-40x40-GREY

Color
grey

Finish
raw

Quality

S3SNIH




FIX-EXCENTRIC

53 125
— E—

100
78

825 [ 30
1M
o [ [
~
‘ Quality  Finish art. Gmax (kg)
D4/78V 120
825 83

S

=

3%
>
P

100
78

30

Quality art. Finish Gmax (kg) R 8 € pre 2m rido
D4 /7 8S - 120 Diera 1 Diera 2 Diera 3 Diera 4 Diera 5 Diera 1 Diera 2 Diera 3 Diera 4 Diera5 | |
800 25° 51° 767 10,17 128° 88 176 264 351 436
1000 20° 41° 61° 81° 1041° 70 141 21 281 351
1300 16° 31° 47° 62° 78° 54 109 163 27 n
1600 13° 25° 38° 51° 63° 44 88 132 176 220
1800 117 23° 34° 45° 56° 39 78 18 157 195

Closed

Closed

73



—

i
|
1

\

i

|
il
i

% H 165
2 2
= = 75 75 2
11—\ IS & —(©)— -«
) =

2

18
214

X-WELD

MODEL FI

W °
dw = 21
3
—
o o o 8
= e 2
(7] x
(%] (]
<3 o o o o €
I3 « ¥ © © G
N
x
£
INE e
G o NIV —
N | 2
n N N © 900 =
- - - - ¥+ o o o .
= |8 8§ g 5
o olol © o o - - s g
= 988¢ &% S
©
N
a o oo« © EREIRIRY £
2 == RS 5
) IR
+© © ©O O O o £ | 9|9 9 <0 0
S SRR IR 5 © © © 5 © ©
TNY Y 7| g & T
- - - - - - -
- - - - - - =
SN SN S S SN S S~
T O F DS + & < < ©
(o]l =] =]N=]N=1 (el aliya] a o
- =
2 2
£ £
i ic
> >
= =
© ©
= =]
(¢} (¢}

S3SNIH

74



NMODEM FIx-WELD -3

091 ~ 1Sk

Quality Finish art. Gmax/2pcs (kg)
D4/11-150R 100

25
M2
4 i
) i
1
Jas
| . é =
. =24
\T )
o4 { il 2
. ! A
|| 1 8
N
=
Widzi L 1
Quality Finish art. Gmax/2pcs (kg)
D4/11-150RD 100
(9p]
L
©)
Z
I
I
| = Horizontal Regulation Vertical RaglLlaﬁm (+6mm)
| ’ |
= ©
‘ 2™ Horizontal Regulation (£2mm)
'?Hoﬂmmm Regulation

O

Hurizm‘laﬁ Fh‘agu‘afnn.(ﬂmm)

DOOR LEAF k )

Quality Finish art. Gmax/2pcs (kg)
D4/11-160-3D 160 Mnew FRAME

Vertical Regulation

75



AN

ANY

N®)

7
Y

./
S/,

N

\
\
\

DL

22

i ini Gmax/2pcs
Qualit; Finish art. D H B
- - (kg)
D4/41-21 21 110 28 60
raw  D4/41-25 25 130 35 80
D4/41-30 30 155 45 100
Quality ~ Finish art. D Gmax/2pcs
(kg)
D4/47-100 20 105 60
D4/47-122 24 125 80
raw
D4/47-146 20 142 100
D4/47-195 195 120
|
|
)
: . Gmax/2pcs
Qualit; Finish art. D H
V (kg)
D4/60-70 20 70 80
raw
D4/60-90 27 90 100

76

BRASS



(=}
<
3 o ———Bearing
o
<
=l (-
S NS
27
41

Quality  Finish art. Gmax/2pcs
(kg)
raw | D4/13L 80
=
N
<
Bearing
o

© —_—

- [ee]

; Bearing
oN
~

|
Sl 74
© 5
17 %
31
Quality  Finish art. Gmax/2pcs 46
(kg)
raw  D4/14L 120
B——Q———
=
0
h2
Quality  Finish art. B D H h1xh2 Gmax (kg)
D4/32-20 19 20 90 60x60 200
D4/32-24 23 24 100 70x70 300

77



&)
I
O]
e
T

VMIOBERN FIX-SCREW

Quality  Finish art.
D16/73-70-000

Quality  Finish

83

‘ Quality  Finish art.

AISI316

Quality  Finish

[ | 8
o
]
49
Flat
o Gmax/2pcs (kg) | [ (— ]
Flat 50 \ \OD/
| 85 .
| | (1)6.3
/
d
i
49
NY
&
art. (4] Gmax/2pcs (kg) ’\é/l |\_/I
D16/73-70-042 42,4 50 \OD/
—Or—
! f [
e,
One
36
60
(0] Gmax/2pcs (kg) ‘
D16/77-60 Flat 50 ‘
62
46
41
@F | _‘© l
u -
' ™~
o |l] o 13
| N
© - ©
paani r
o i
(p// | o~
e
art. Gmax/2pcs (kg) Q.3//
D8/85-64 40 new 2

78




WMIOBERN FX-SCREW

[ — [ —F
85

i ©
Quality  Finish art. Gmax/2pcs (kg) #Fl FT
D8/86-85 30 Hew I

o) '|' ol |
(o] T o| g
olllo]
| ]
-8
- e
—
Quality  Finish art. Gmax/2pcs (kg)
m D8/87-100 25 new *
|
o Il ©
© H ©| g
© T © :
T— 70 e— -
— | -—
Quality  Finish art. Gmax/2pcs (kg) i '
m D8/88-40 25 hew O ‘ o
L
D 2
- I
- 120 i
o[ o A
[{e]
@ oo © N'
|
| !
o I

Quality  Finish art. Gmax/2pcs (kg)
D8/89-26 25 Mnew

1,2

79



FIX-SPRING SE

EXl o [[[o] o
® K
| @ }
== ® o =
<]
|\\'s$\ X
R e

Gmax/2pcs

Qualit Finish art. H h h1 h2 D d k s e t
! (ka) 4/

D8/69-75 92 77 56 32 18 55 9 - 20 15

I\CIk{e¥} satin @ D8/69-100 17 102 77 42 18 55 10 - 22 22

Nastavenie sily

D4/69B-75 98 75 54 21 21 45 85 - 22 15 Tension |

7
7
D8/69-125 141 126 92 45 20 6,5 11 9 - 28 27
6
9

D4/69B-100 122 100 78 45 21 55 8 - 24 22
BRASS
D4/69B-125 147 125 101 57 21 55 10 11 5 31 27
D4/69B-150 172 150 126 80 26 55 9 14 6 35 40
D4/69N-75 97 75 55 24 20 45 8 4 - 22 15
“Poistny kolik
N | D#/B9N-100 124 100 76 43 22 45 9 7 - 28 22 X Locking pin
1
D4/69N-125 148 125 102 57 22 5 95 11 6 32 27 Ny,
D4/69N-150 172 150 126 80 26 55 95 14 8 42 40
s
- ‘%ﬁ
1 D I
o [F{lel—
o | le
—| = Nl=
0. o
$ e
o | || o1
o |
———
——'T—r——
—=
=
-
-
—
Quality Finish art. H h hl h2 D d k s t Gm?’;gpcs ‘\
raw | D4/72Fe-100 E
122 100 78 45 21 55 85 9 22
Ni | D4/72N-100 .
D8/72i-75 93 77 53 26 18 55 9 6 15
faw | Dg/72i100 117 102 78 43 18 55 7 22
D8/72i-125 141 126 92 45 20 65 9 31 27 4/




FIX-SPRING
. 100 -

) o
Rprr—— © © t
C | 8
| © &
= = o
- o " e
| © © !
) ol 8
- © © o
b ) ) !
_ 185
< 2
= ©
= 8
NI |
=
“6
ALUMINIUM  natural D4/72AL-120-GREY  grey 20 new ®)
-
-
- 100 -
= .
N 0 | s m
A ¥ i
{ 4 3 Pruzinovy zaves
L . Spring hinge
( © © ! Cf
. | s /N
¢ © ©f |§
‘ 8
¥ 3 (O) @ ! Nastavenie sily
A\ - s <\ ; Tension level
3 @ @t -
8 - Pruzinovy zaves
‘.‘ 5] 7 Wn! i Spring hinge
— 185 . 63 ,l_ 185
= |
= e «
— o
I \Xﬁ
© @)
D4/72AL-180-GREY grey Mnew [ Pt a
ALUMINIUM  npatural 30
D4/72AL-180-WHITE  white Mnew
10,2
T
o | ‘ﬂ
ST
| o
o ‘ o
i
I
I o 1S
0 I O ‘ L
| ‘
I |
‘ |
| ‘
o 1 O | ! Nastavenie sily
N k OJ Tension level
f 75 1
ALUMINIUM  patural D4/73AL-W-130-BLACK  black 20 new

81



=N {GISPRSOINGV/ISZ - FOR ALUMINIUM GATES

35

N%2:N

15 60 15 90

90

43

q!
§ = \;l j)\
\
1 -
NI
B ;

in gg
il L@ )

N2/

fiber-
reinforced .~ Faw | D19/01N-90L  neutral 28 new L. 5
polymer 48

M
N\

y 3(5\ TS

[N

\
&

]%i
p

15 60 15 %

12 %

—= —T 2

= =

—_

_

—
fiber- 12 2%
reinforced ~ faw  D19/01F-90L fixed 28 new
polymer

54
12.5
12.5
40
- & )
=

=

—_

—_

— l |
fiber- =
reinforced ~ faW  D19/04G-90L  adjustable 70 new
polymer

82



SINFOIS{GI=DAZOINGVIS2E - FOR ALUMINIUM GATES
a1 8

15 F FL_ Tw\
| D0 N
¢ ] e

o\

[44
&
Q

T
[

\H
(4
7

(30T
)
Q
o)
N
o)
Y

Quality  Finish art. Tension Gmax/2pcs(kg)‘
. N AN
fiber- >
reinforced ~ FAW  D19/02N-110L  neutral 35 Hrew
polymer
21 68
15 %
E ﬁ:\ rlr\
3 \\_J @ = k_U/
— -
-0 s = )W ((
e ) J L
S E \ LO)A %e§ ze
15 2 21 43 25
110
30 16 Hu
E & N
o © © \
=
_
—_
—
Quality  Finish art. Tension Gmax/2pcs (kg)‘
fiber-
reinforced raw D19/02F-110L fixed 35 rew
polymer

A

>




REINFORCED POLYMER

- FOR ALUMINIUM GATES

1.5 36

110

68

1T

= L 5 )
N N
= = =}
= YN NS
1 ©
=\ J
36 90
90
35
Ve N
“D— —©
= Py
= N
P [ =
iber-
reinlforced raw | D19/03N-110L  neutral  wide leaf 35 new SR SRR
polymer
110
36 68
e 5 o N
- L b i
]
f\' v\.a
T ©
“ S\ J
90
90
35
-
=
=
—
fiber-
reinforced raw D19/03F-110L fixed wide leaf 35 hew
polymer
R L —

84



SINFOIS{GI=DAZOINGVIS28 - FOR ALUMINIUM GATES

|
25 ]
135
- N
VAU

{ T |
‘
|
0%
06
17

08

LL)]
N

=
=
=
=
—
)
fiber-
reinforced raw D19/05G-135L adjustable heavy duty 480 Mew
polymer
21 81
5 PN NP @
N
&0 @&
70
86
135
=
= -
=
—
fiber-
reinforced | faw | D19/05G-135  adjustable o3 9UY 480 e

polymer (no legs)

R 54
-0 0|
—_LH = )
3z © g5
= s C’J‘R‘:ﬁi
04 :
{7 13
TN TA R
: Dabgdbg
s (AN Gy
E y - ': 1[' TR
w il e ®

@ |P 9l@

=0
Eo 86
fiber- h d R
reinforced | faW | D19/06GA-135L adjustable oY dulY 360 new
polymer (fully adjustable)

85



EINFOIR{GI=AZOINGVIS2E - FOR ALUMINIUM GATES

145

[5.720]

Quality  Finish art. type _'P) ‘

fiber-
reinforced ~ raw B19/01S hooked 4 ‘ hew L o

polymer (single sided)

5.720]
145

o)

. e

SECTION A-A

f o
‘ | e
3
Quality  Finish art. type _'?) ‘
fiber-
reinforced raw B19/01D hooke.d v new
polymer (double sided)

(%)
w
T
O
S
[}
o
w
a8
S
|_
(%)

art. for
B19/01S
B19/01-KEY B18/01D new

86



=INFOIS{G=pAZOIRNGVIS28 - FOR ALUMINIUM GATES

Ty

32

=

2

' @ ‘EJ :
8
| — (7]
4 \ i
\ -
1 I 0
\
. D

fiber- .
reinforced ~ raw B19/02S m.agnetlc | j |
polymer (side pull) . ; .
o
4 2%
i AC _
P ;
=
0 T -
° i
: L
\ o e
fiber-
reinforced raw B19/06-150 Mnew *
polymer y

C
% gt
[}
(T
=

2

)
\=/)

STOPPERS, LATCHES

58
fiber-

reinforced ~ raw B19/05S-45 Mew
polymer

87



)
P
(@]
-
O
s
1
L
(m)
@]
p=

A-FS-150/60-JP

J

J

°G

S

D16/77-60

(&)

art.

A-FS-110-D

Finish

Quality

40
65

115 100 250
270

155

130

1500-3000 30,40 750-1200

120

150

1800-3500 50,60 900-1500

A-FS-150/60-JP

S3ONIH




MOBERS FOLDING

— A -—
95 o 50
—T* t = A L max S2 (kg)
| H 2000 940 205
2500 1190 170
1 52 = 3000 1440 145
65
4 3500 1690 120
4000 1940 105
e S ]
L 4500 2190 95
|
T L L=(A-65-50),2 — 5000 2440 85
5 -
i
B
e —
ﬂ pes

L+150mm

Quality  Finish art. A B
FS-250 1900-5000 40/50/60

1000-1500 1000-1500

Quality  Finish art. A B ﬁ S . -
FS-150 2000-3000  50/60 W 50

89



=

STOPPERS

Quality  Finish

A a B b H h e

B1/32

raw  B8/32

168 130 138 110 50 22 60

B1/32-S

raw B8/32-S

120 95 100 75 42 20 45

Quality  Finish

Fe

B1/51

Quality  Finish

art.

Rubber| black B1/32-G

90

>——i

) I W
SECTION A-A
A
a
o/ \{}
A
. /
N <)
90
|
67
Ta—»‘»
[ [ =
150
| 1105
\w

@

{9 |




40 mm
34 mm
49 mm

120 mm

120 mm

80 mm

£
E . -
e ————————

Quality  Finish art.
B1/35-EL Mnew

E
E
g

120 mm

Quality  Finish art. ‘
B1/35-EL-PLATE hew

60
9
L < :
L
o
160 o)
i 130 i 5
/] 1\
? L\ﬁ
-
g 8 —-——— 19
e .20
%
\J T/
L

Quality  Finish art. L
B1/36-52,5 525 el
B1/36-66 66  Nhew

91



=

STOPPERS

60

i

34

]

80

o0 !
P— - B
H/10B-60x130 - N
Fe H/10B-60x130-R9005 RAL 9005 H#veM 7
H/10B-60x130-R7016 RAL 7016 HEW — 0
INSELYY raw  H8/10B-60x130 - —
50
T
~
& Q\
W

56
80

H/10B-50x80 - 76

Fe H/10B-50x80-R9005  RAL 9005 veW 100

H/10B-50x80-R7016  RAL 7016 HeW

i}

@45

77-117

4
=en_ -

73
0105

>

65
095

_ H/10B-50x120 e
92



‘ Quality  Finish art.

Fe H/10B-35x46  MeW

Quality  Finish art.
H/10B-130x85-SPRING

‘ Quality  Finish art.

Fe H/10BP-150x92-SPRING

35

1100

+3

88

|

|
72
100

(o
r
J
o

I
\

15 - 150

93

—=

STOPPERS



=

STOPPERS

IE2INEAN 1/ 105-50x100

Rubber

Rubber

94

black B1/16G

black B1/16G-B

i
|
@27 |

85

50

P49

0

45

RUBBER

(L

105

RUBBER




©
R -
- 3
30
- !
o L T 29 —
‘4’%0 108
H/58-43 43 | mew
H/58-63 63 | Nnew
25
50
7 145
A O, SO
i w o
— 18_
‘ G O
OO
...D80
...D100 ...D120
H/PK01-D80 76 260 96 87 MW
H/PK01-D100 102 280 110 90 MeEW
H/PK01-D120 123 355 130 146 EW

—=

STOPPERS

95



D7/12... D8/12L-500
D8/12...
Quality  Finish art. a b Q

D7/12-200 200 82

D8/12-300
300
D7/12-300 9 v
D7/12-500
500
raw  p8/12L-500 hew
A
-
—
=
_T_

L9

Quality Finish art. Q

AN o7/ 24515 /

(%5}
LU
5
=
3

0yl

Quality Finish art. a g
D7/19-300 300
Fe / 4
D7/19-500 500 ‘




Quality Finish art. Q
D7/16-150 v

PN
£
) )

.

Quality Finish art. n
D7/17-160 v

Quality Finish art. A n

D7/25-200 200
D7/25-300 300
D7/25-400 400

\ —
ol &
|
ol [l —
Nl R
ol i) —

1
2,5

97

LATCHES




C kI
=5

%)
w
T
)
S
[}
o
w
a8
o
O
'_
(%)

19

125

150

Quality  Finish art. Q

D7/23-150 v

(bh.%
|
//@
| ¢ i
35 - 66
Flat
i
[ | | [ |
[ [ T T ]
? =
Quality  Finish art. (0]
D16/74-70-000 Flat
35
51 o™
oo )
ity 43 - 66
@W
‘ Quality  Finish art. (4] ’\<>/‘ M
AISI304 D8/74-70-042 424 - — T
AISI316 D16/74-70-042 ' i:l

98




Quality  Finish art.

(ROD)

TIAHLO 7)

D7/22-180

12x12

——

5
C

Quality  Finish art.

D7/22-235-Zn
raw  D7/22-235-Fe

Quality  Finish art.

ISR o7/22-160

ey~ X
(ROD)
14x14 v

8¢€C

081

48

170-220

99

C kI
=)

%)
w
T
O
S
[}
o
[
o
S
|_
»




P ‘ |
\\ C
i
el o
8§ —rg= = e
\i*:_;{
F’ C
' e O e
L 240
Quality Finish art. Gmax/2pcs (kg)‘
D10/011-120 60 ‘W
0
— =0 —-—-—-—" — | - [
o
@4.2 |
' ©
| ©!
|
- ©
8 |
a '
| 8
|
o
| 8
. ) 2
&Qm&m—ﬁ
Key for tensioning
= 175 24 %
— 245
= - PHE
— = /= o/
ey =G
Quality Finish Color art. Gmax/2pcs (kg) @16
black D10/03AL-190-BLACK
d 40 new
grey D10/03AL-190-GREY
\
(D -/
L
I
O
5
)
o
L
o
G
|_
n AT
s
0]
0] [ —
| = T
® |
D10/011-120 _\ D10/03AL-190..
- = !

L

CUNTERCLOCKWISE

100



;
:

%
1
o7

< =2

W

Quality  Finish art. Gmax/2pcs (kg) ‘
D10/051-280 60 ‘m

) . . . Door:
Quality Finish art. Norm Dimensions /G/°max
WS/Z-101 EN1154, EN:2-3  230x33x57 1200mm/65kg/120°
ir
s
o)
[9p]
L
I
(@)
5
()
o
L
o
e
|_
(7))
_ n . . Door:
Quality Finish Color art. Norm Dimensions /G/°max

- Ws/z-104
black WS-BLACK/Z-104

EN1154, EN:2-3  182x41x63 900mm/60kg/180°

new

101



=

LOCK SETS, BOXES

30
Quality

oy

i~

set
o L
BR/30x30-set S| B1/62U-40 B1/34-32A = D1/14AL | D1/14AR | B1/33-30 B1/30-50A B1/19N D2/28-Zn
30
Quality set ‘ E‘Z
BR/30x30-set B1/52J-30x30 B1/30-17x82
B1/07T-30 B1/09-50M | E2/258-30x30 B1/19N | D2/07-Zn
BR/50x30-set B1/58J-50x30 B1/30-35x90

40

40
Quality

BR/40x40-set
BR/60x40-set

B1/62U-40

B1/58J-40x40

B1/30-22x90

B1/58J-60x40

B1/30-40x90

B1/19N

D2/28Zn

BR/80x40-set B1/58J-80x40 B1/30-50A
Quality set Enq{: %
BR8/40x40-set B8/62-40x20 | B8/39J-40x40-A B8/30-20x85 B1/19N D8/05-i




-

Quality set I E‘; P

o ! x :

] l L '
1224 H

Vac/Vdc

BR/30x30-set ES B1/18-LC B1/61U-40B1/34-32A D1/14AL | D1/14AR  B1/33-30 |B1/30-50A B1/19N | D2/28-Zn D5/11-Zn D0/05-Zn

Quality set ’

6-14

Vac/Vdc
BR/30x30-set E go  B1/52J-80x30 | B1/30-17x82

B1/18-1 B1/07T-30 B1/09-50M , 070 B1/19N | D2/07-Zn | D5/11Zn | DO/05-Zn
BR/50x30-set E X501 B1/58J-50x30 | B1/30-35x90

=
= o

o

40
| i
Quality set qu: N
12-24Vac/Vdc
B1/58J-40x40 B1/30-22x90
B1/18-LC | B1/61U-40 B1/58J-60x40 B1/30-40x90  B1/19N D2/28Zn D5/11-Zn D0/05-Zn
B1/58J-80x40  B1/30-50A
40
) SN
Quality set E'Z % é
12-24Vac/Vde
BR8/40x40-set E B1/18-LC B8/61-40x40 | B8/39J-40x40-A | B8/30-20x85 B1/19N D8/05- D8/04-i

103

N
L
<
o
M
0
l_
I
n
N
3
—




IS

245

|
’—\J

Quality  Finish art. A B C D
B1/60-40x40 40 21,5 90 40
Fe raw  B1/59-50x30 50 30 B1/62U-40
34 72 B1/61U-40
B1/59-60x40 60 40 B1/07T-40
80 40
|_B —
©
1 & JE 1
o
o)
~N
o
il
i o
@
50
Quality Finish art.
] B1/62U-40
raw  B1/48-80x40 B1/61U-40
B1/07T-40
(%0
L
< A 40
O - - =
@ 4 rl r]
f/_) - ;j% - i S
m )
%) B
X
O (D\q
| —
o
S ]
= [
_—
] ¥ M
e &
el - ;;2’:
Quality  Finish art. A B C
ra B1/63-40x40x1500 40 22 90
B1/63-60x40x1500 60 34 72

104



Quality  Finish art. A B C E F s
LISIKZS satin | B8/58J-40x40
40 19 40 200 B1/30-22x90
B1/58J-40x40
& B1/58J-50x30 50 32,5 90 30 260 215 B1/30-35x90
B1/58J-60x40 60 37,5 B1/30-40x90
B1/58J-80x40 80 47 B1/30-50A
INSELTE satin B8/39J-40x40-A 40 210 B8/30-20x85
B8/39J-40x40 40
T 18,5 85
B1/39J-40x40 B1/30-20x85
B1/39J-50x30 50 30 300
raw B1/52J-30x30 30 13 B1/30-17x82
B1/52J-40x40 40 82 40 190
21,5 B1/30-25,5x82
B1/52J-50x30 50 30
” |
C | '
:' )
Quality Finish art.
satin B8/63-40x40x1500 B8/30-20x85
_—
L]
1
Quality Finish art.
satin B8/63-D42x1500 B8/30-20x85 Mnew

1520

A £
D3
\‘?;3 m
el
L~
Jany
hia
+

1050

T3

210

B1/65

105

*_ﬁ
{ |
\s o )

)
W
X
o
@
n
m
n
N
3
—




STANDARD 20
16,5 40

!

59

270

@r ]

E RUBBER

‘ Quality Finish art. ‘ 2 E

A
AISI304 BE-F1 B8/62-40x20 ‘

)

228
260

‘ Quality  Finish art. F_
B1/62U-40 37

@)
|

©
197

> +©
(%) - _ 1
L
= . .
(@) Quality  Finish art.
oM
B1/62U-40x30 46.5 25
o | B/emuaoce i
P NoY &
¥ s o -
~ ~N
15
= —o
(%))
+| 1+ 1l ggsg
o~ N N
10
S
3| o
&
=)} e -
b 19
&
‘Quality Finish art. 3
B1/62U-45x45 -

106



ELECTRO-MAGNETIC

30 15
40 3 ] _
10 ] N
o
— 5 |
R I8 o
— D o I
— [¥a) ' N :@. —
g W ]
[ - B1/18-LC
17
b . 0
RUBBER L L
PLASTIC I -
Quality  Finish art. ‘ Quality  Finish art.
satin B8/61-40x40 ; # AISI304 BEE1) B8/07T-30x15 B1/18-F
e
B 30
I] B1/09-50H
B8/09-50H
‘ L | L |
Quality Finish art. B B1/18-
Fe raw B1/07T-30 50 B8/18-L.C
LGRS satin @ B8/07T-30
Fe raw B1/07T-40 0
LGRS satin | B8/07T-40 4
Univerzalny doraz pre klasicky alebo elektromagneticky zamok.
Universal stop box for clasical or electromagnetic lock. 46
23 13
- o
pamecy )
i g
2 ;
o {
@ 15]9
2 &3 38
B1/61-46x36-L B1/61-46x36-P 2 3 M
B1/18-LC 1)
LLl
x
| [ ] 4 :
Quality  Finish art. & e 0 , &
B1 & B Nl & S
/61-46x36-P [E A L A2 >
B1/61-46x36-L B1/61-46x36-P B1/61-46x36-L B1/18-F g
o
|_
B35 4@ L @
—’_ﬁ——
¢ @ &
7ol
6 |
o= =1
&
od
12
{|§| B1/18-LC
N RUBBER d
Qg PLASTIC -
Quality  Finish art. _ :5
B1/61U-40 ——f—— B1/18-F

107



210
82
170

le @ 1 1
190

Quality  Finish art. ‘

B1/30-17x82 B1/52J-30x30

N
Y—

%0
oo ——0 TT 4§

‘ Quality Finish art. A B D E F s t B1/58J-40x40
o B1/30-22x90 39 19 178 20 220 200 3 B1/30-22x90 | Bg//58).40x40
B1/30-25x90 w0 225 178 235 216 B1/30-25x90 -
AISI304 B8/30-25x90 180 25 240 210 25 new B1/30-35x90 | B1/58J-50x30
Fe B1/30-35x90 177 235 216 B8/30-25x90
AISI304 B8/30-35x90 50 325 180 240 210 hew B8/30-35x90 )
r-—ﬂ—- 20 q)h.%
— ~
-
A ] I
S @ o
IS &

25

a—=h
N
(e o ——

375

Quality  Finish art. ‘
B1/30-40x90

B1/58J-60x40

108




80 20

) |: @ |:| o
o~ = |:|
i

‘ Quality  Finish art.

B1/30-50A B1/58J-80x40

I ¢

210

=l
M
e & 4
INE

B
B1/30-20x85 B8/30-20x85 ]
B8/30-30x85 7
B1/39J-40x40
Quality  Finish art. A B D F t B1/30-20x85| B1/39J-50x30
B1/30-20x85 36,5 18,5 174 240 2,5 B8/39J-40x40
v B8/30-20x85  B8/39J-40x40-A
JYERIY satin | Do/30-20x85 8 8 0 288 3 ’
B8/30-30x85 45 27 new B8/30-30x85 -
¢

1
g

LOCKS

170

210
82

e @ 1
190

H’ii

215

‘ Quality  Finish art.
I — B1/52J-40x40
B1/30-25,5x82 B1/52J-50x30

109




Finish

Quality

art.

B1/30-17G

Quality  Finish art. L Color
B1/19N 22,5
B1/19N-60 25
B1/19N-70 30
. i B1/19N-80 35 new
' B1/19N-R9005 22,5 new
B1/19N-60-R9005 25 new
RAL 9005
|ﬂ B1/19N-70-R9005 30 new
¢ B1/19N-80-R9005 35 new
0
X
O
(@)
|
Quality Finish art. D Power supply
B1/18- 6-14 Vac/Vdc
B8/18-LC 928 Vao Ve new
12-24 Vac c
B8/18-F 79 new

V kludovom stave zablokovany/Locked in default state

110

210

(A

]

[+ ]

= ..

) 25
|_ |_| 0p)
S |:| g
L L
(]
LI o]
B
L0, L
%
5 29 2
(Dh.%
ﬂfé ra|
~~_ ] N
SIS ] -
©o [ <]
14 3




Quality ~ Finish art. Power
supply
12-24

B1/18-LC Vac/Vdc

V kludovom stave zablokovany/Locked in default state

Quality  Finish art. Power
supply
12-24
Bl Vac/Vdc
Quality  Finish art.
B8/18-FP

Odblokovanie
Unlock

Oneskorovaci kolik
Delay pin

29 20
8 o
+2
<o
29 20
(<) N
~ [te}

250
237

NO/NC
Contact

77,5

00

28

[14]

25

111




n
L
_
[m]
=z
<
I

‘Ouality Finish art. Model ‘
AISI304 D8/15-i KO1 ‘
.
§
4
-
( L&
'4
/
J
‘Ouality Finish art. Orientation Model
D8/15G-R-i right
AISI304 K02,K11
D8/15G-L-i left
Quality  Finish art. Model ‘
D8/014-i K320 ‘
D8/09i D8/09B-i D8/08i
Quality  Finish art. Model
D8/09-i
D8/09B-i
D8/08-i Ko1
D8/08B-i

112

D8/08-WC

D8/09-WC

—N
=
46

46

67

67

@20

78

1] |

10

D8/15G-R-i
:a:
o 1l
74
@52
>
32
vy _
= =
@

i

D8/08B-i

3
8
32
Jh)
Al
N

®20 ool
97 T
=)
~N|
~O|
922 | |
o L
128
H
O\
~O|

=G}

®53

D8/15G-L-i




. . D8/03-i D8/03-BB

Quality Finish  Color art. Model

\ - D8/03i
AISIS04 \ black D8/03-BLACK K02 new
AISI201 \ - D8/03-BB

D8/01-i D8/01-BB

\ Quality  Finish art. Model

AISI304 D8/01-i K02
AISI201 D8/01-BB Mnew

D8/06-i D8/06-BB
Quality  Finish art. Model ‘
AISI304 D8/06-i o1
AlSI201 D8/06-BB new

D8/010- D8/010-BB
\ Quality  Finish art. Model
AISI304 D8/010-i ‘o1
AlSI201 D8/010-BB new

45

10

10 45

120

48

ﬂ

116

66

46
62
46,5

113

(9]
L
_
@)
=z
<
I




D8/02-i D8/02-BB

‘Quality Finish art. Model ‘

AISI304 D8/02-i <op \
AISI201 D8/02-BB ew

‘ D8/05-i D8/05-BB
‘Quality Finish  Color art. Model ‘
\ - D8/05i \
AISI304 | black D8/05-BLACK K02 o ew
AISI201 | - D8/05-BB |
-
’
A
Quality  Finish art. Orientation ? Model
o D8/05G-R-i right fixed
D8/05G-L-i left position
|
L AISI304 D8/05-GR right e K02,K11
% D8/05-GL left with handle
<<
T P
Quality  Finish Color art. é) Qé Model ‘
D8/04-i fix - \
D8/04-2-i fix fix \
- D8/04-2-R-i fi
/04-2-Ri open i ko1 \
D8/04-2-L-i fix open ‘
D8/040-2-i open  open ‘
black D8/04-BLACK fix - \"‘eu

114

©
<

120

10 50

52

38
| n—
ml

65

26

120

10 50

=N
=
46

30
)
)
© - -
<
)
15
77
N\
/|
o
&
N
‘
08
I
‘
&
)|
~
125
30 ob
|
=i
SN
15

Z%\
N

IS
)




P Wi e

D2/07-Zn
D2/05T-Zn

D2/11-Zn

D2/34-Zn D2/57

D2/28-Zn
Quality Finish art. A B C D X H Model

D2/07-Zn 145 60 19 a2 2 ® - .
D2/11-Zn 132 45 48 28 15 i
D2/34Zn 152 50 40 17,5 34 A a
D2/28Zn 145 42 37 ® 0 K2 Top Z
D2/05T-Zn 143 60 35 4 T
D2/52Zn 145 45 35 49 K13 - H/’ o

D2/56 150 48 40 10 &7 1 1 i

D2/57 160 54 50 25 19 | 5

\

115



P28 RAL black D12/08-90

n
L
—
o
P
<<
I

B8 RAL black D12/1590
116

125

3
[ I
30
prcs
W
5
“FE
o
90
3
U‘
30
\\]\5

e D




P2 rAL black D12/16-90

ALUMINIUM RAL black D2/29 KO3

PVC raw D2/30 K03

125

T/

w
w
30
\>
1
& S
Yo}
<
R 78
[T} —
[te}
v
<
@3 | 20
107

121

50

58

67

117

(%2]
L
-
o
P
<<
I




n
L
-
o
=z
<
I

Quality

Finish art.
raw D5/11-Fe
D5/11-Zn

Quality

Finish art.

raw  D0/05-Zn

D5/11...

Quality

118

Finish art.

raw D0/03-Zn

56

19

\
\
\
@60

D2/28-G = D5/11-Zn + DO/05-Zn + D2/28-Zn

89




‘Ouality Finish art.
raw ‘ DO/O1

Quality  Finish art.
raw  Do/04

D9/10-93x65

Quality  Finish art.

raw  D9/10-93x65

I\EIELPY satin | D9/10-93x65-INOX

Th

@10

50
0
= 7
LN
=
S
N
B .I. —
|
|
4 .I. -
W
D9/10-93x65-INOX - :
i
E
6

86

119

(9]
L
_
(@)
=z
<
T




(%]
i
S
o
o
w
=
©)
®)
X
®)
@]
4

0

jem]

7

D1/39F D8/09-i
Quality  Finish Color art. a s d1 Cc Model
PVC black D1/39F 31 48 3,8 3,5
satin D8/09-i K02
30 50 5 10

RAL  black D8/09-BLACK

R

D1/46K D1/46F D8/08-i
Quality  Finish art. a b D s d d1 C Model
D1/46K
raw - - 50 - 21 - 4 K13
D1/46F
P\ER{ I} satin @ D8/08-i 52 52 - 38 - 5 10 KO1

D1/32K

Quality  Finish art. d Model
raw D1/32K 18 K11, K12

120

70




90

I
4
D1/55-90
Quality  Finish art. A
D1/55-90 60 260 225 5 3 K13 ‘
D1/18-90 47 245 188 52 2 ‘
s
aa %2 [T
D1/02 D1/19 D1/03
Quality  Finish art. A F ] d Model
D1/02 40 240 215 5,5
D1/19 40 278 200 6,5 K11, K12
D1/03 50 240 213 6 BE
(%0}
L
5
o
o
58 g
5
143 o
‘ e o
X
w 3
-
o ol C L
I
Quality  Finish art.
D12/07-90

121



r
e

I——L—
@\\35
IS =N B i3
I
| 8|
D1/14AL D1/14AR D1/14A-S D1/14A-S-T
Quality Finish art. A Model I 4
set
D1/14AL RS BR/30x30-set S
D1/14AR 105 K21 ‘-K23 BR/30X30-Set ES
raw —
D1/14A-S
D1/14A-S-T 110 ’ i
"7
5
el o
L =3
Id
Al

s _|
D1/14AL-T90 D1/14AR-T90
‘ Quality  Finish art. Model = +
. D1/14AL-T90 K01 - KO3
Fe raw K13

a D1/14AR-T90 K21 -K23 D1/14A-T90 D1/14AL-T90 D1/14AR-T90
(7)) 105
= "—’
3
o
o
S
(@) \)
(@) |
X );qu/
(O]
(@)
- N
N ;
aila
D1/14H2 D1/14H3-S D1/65H2 /
D1/14H3 / / |8
Quality  Finish art. B C D t Model
D1/14H3 48 90 19 K01-K03, K11, K12, K21 - K23
3

raw | D1/14H3-S - - - -

D1/65H2 48 90 18,56 2 KO1 - K03, K11, K12, K21

122



D e @ G —®
D - - - D17 D17 D19 D19 - 19 D19,5
H @ Hmax 26 15 18 15 17 17 19 15 30 35
Model | KO1 K02 K03 K11 K12 K13 K14 K21 K22 K23

BR/30x30-set (E) v/

BR/30x30-set S(E) v/ v

BR/50x30-set (E) v/ v

BR/40x40-set (E) v v v/ v/ v/ v/ v/

BR/60x40-set (E) v v v/ v/ v v/ v/

BR/80x40-set (E) v v v/ v/ v v/ v/

B1/52J-30x30 v/

B1/39J-50x30 v v/ v/

B1/52J-50x30 v v v/ v/ v/

B1/58J-50x30 v/ v v/ v/ v/ v

B1/39J-40x40, B8/58J-40x40 v v/ v

B1/58J-40x40 v v/ v/

B1/52J-40x40 v v v v v/

B1/60-40x40 v/ v v v v/

B1/58J-60x40 v v v v v v/

(

B1/59-60x40 v/ v v v/ v v/

B1/58J-80x40 v v v/ v v v v/

B1/48-80x40 v v v/ v v v v/

D1/14AL, D1/14AR v v v v/ v v/ v v

D1/14H2, D1/14H3 v v v/ v/ v v/ v v

D1/14AL-T90, D1/14AR-T90 v/ v v/ v v/ v/ v v B E

D1/34-Lt2, D1/34-R-t2 v/ v/ v/ v/ v/ v v v/
0

D1/35-L-90, D1/35-R-90 v v/ v v/ v/ v v/ v/ g
o

D1/39F 4 o
|
>

D8/09-i v O
(@)
X

D1/46K, D1/46F v v v @)
S

D8/08-i v/

D1/32K, D1/32F v v/

D1/55-90 v v v

D1/18-90 v v/ v

D1/02 v/ v

D1/03 v/ v

D1/19 v/ v

123



(9]
ul
S
o
o
ul
>
O
O
X
O
@]
|

Quality  Finish art. B
B1/34-32A 32
B1/34-42A 42
[}
Quality  Finish art. A s
B1/33-30 90 30
B1/33-40 85 40
Quality  Finish art.
Fe B1/41-28
AISI304 | B8/41-28 new

124

240

(T
g
g =
B | 3
L
B1/34-32A B1/33-30
B1/30-50... D1/14... ———————
B1/34-42A B1/33-40
Il A ! S il
| [
-_q —
& &
[Fa)
__=_)_/ —
B1/33-30 B1/34-32A
B1/30-50... D1/14... ————
B1/33-40 B1/34-42A

28

B1/09

B1/41-28

B1/30...

B1/34...

B1/19N...




315

" Il ol
B1/09-..M B1/09-..V
1) D

Quality  Finish art. B t B t
B1/09-40M
- 40
B1/09-40V 5
raw
B1/09-50M
50
B1/09-50V 3
o
I |
| Il 3
Quality Finish art.
raw B1/09-50H B1/07T...
raw B8/09-50H B8/07T...
_—-|_2 ———

@67
@18

W g

‘Ouality Finish art.
[Rubber black B1/64G

088
@72

N
L
3
o
o
L
>
O
(@)
X
O
S

AR
N~
18 N
®°’$
o
N
Quality Finish art. 24

PVC  black B1/65 new

125



6 e HLINIKOVE BRANY
ALUMINIUM GATES

e PRISLUSENSTVO
ACCESSORIES







MODEL Al

90x95 \ %
L4m/Gc200kg n
L
H/34-4-90x95-NYLON H/14N-90x95-NYLON H/15P-100 H/40-90x95P H/02-90x95-AL-6000
SV-90x95-AL-ECO 2x 1Xx 1Xx 2x -
SV-90x95-AL 2X 1x 1x 2x 1x

206 §
Te9.5 62

o0
o
P69.,5

—
I 1]

£

. TP e . . .
| 200 | 100 |
\ ! ' 153 17x25
'. . - NS Al |
==L LS
| [ @ 117 |3
(== i
H/02-90x95-AL-6000 - rew IEEE +1/34-490x95-NYLON | e/ [P | ]
ALUMINIUM natural H/02-90x95-AL-R9005-6000 RAL 9005 6000 e
H/02-90x95-AL-R7016-6000  RAL 7016 new

L

—

Kl

H/40-90x95P _ Mew
H/40-90x95P-R9005 RAL 9005 @ Arew Fe H/14N-90x95-NYLON | faei/
H/40-90x95P-R7016 RAL7016 e

50

11x30 l o
@ B
o ¥ R
<
|_ [ee]
é 4
o - 12
<
m { )
_
= 102
Z
<
8 H/15P-100
= Fe H/15P-100-R9005  RAL 9005

170 108 65 50 108
H/15P-100-R7016  RAL 7016 hew

ISEWYA raw  H8/15P-100 - new

128



MODEL Al $ aY
Q/ R [ B «
90x99 D) X o J \,
L4m/Ge200kg 1) 2T <> l"ﬁ"‘:!
_.!Q a e . | i

(]

H/34B-4-90x99-NYLON H/34B-4G-90x99-NYLON H8/14N-90x95 H8/15P-100 H8/40-90x99P H/02-90x99-AL-6000
SV-90x99-AL-ECO 1Xx 1x 1Xx 1x 2x -
SV-90x99-AL 1x 1x 1x 1x 2x 1x

74

68

180- 198

H/34B-4-90x99-NYLON | e/ H/34B-4G-90x99-NYLON M/ H/66-15x25

90 4xp7

102, ®13,1

n
W

k R
o0 L X J

17,6

%

6,2
47.6

=1

99

-~

-

H/02-90x99-AL-6000 - hew H8/40-90x99P - new
H/02-90x99-AL-R9005-6000 RAL 9005 6000 e/ raw  H8/40-90x99P-R9005 RAL 9005 | FveM/
ALUMINION natural | T/02-90X99-AL-R7016-6000  RAL 7016 Hnew H8/40-90x09P-R7016  RAL 7016 | FAei/
H/02-90x99-AL-7000 - new
H/02-90x99-AL-R9005-7000 RAL 9005 7000 e/
H/02-90x99-AL-R7016-7000 RAL 7016 new
50 /
11x30 l o /
© INE |4 [%_, - <
@{} < g I L\i AW (Lﬁ
sl 7 I L f T D |<T:
— ‘ 0 @
12 s
= i o
e o< M
> -
102 U =
1385 <Z(
H/15P-100 (_IJ
Fe H/15P-100-R9005 RAL 9005 new INGELYY raw  HS8/14N-90x99-NYLON | faeil/ <
170 1 1
H/15P-100-R7016  RAL 7016 0 108 65 50 108| 4 gy
INSELY] raw  H8/15P-100 - new

129



| L
& = . Vo

|
S B S

H/12-2S H/12-4T

Fe H/12-2S-R9005 RAL 9005 = A€W Fe H/12-4T-R9005 RAL 9005 HeW
H/12-2S-R7016 RAL 7016 | #reW/ H/12-4T-R7016 RAL 7016 HeW
H8/12-2S - INSELYY raw  H8/12-4T -

AISI304 Bl

AL/RP6001-.
p
//
NS - _al
—
e R
ALUMINIUM  natural - - -| e e
natural AL/RP-6005-6000-N H8/04L-35 INGEYY raw H8/52-40x40
/’/
v
A -024-
/69000242500 . 2500 He/04-22
AISI304 A/6900-024-5000 5000
A/U40x40x3-3000 3000 new
raw
A/U40x40x3-6000 6000 H/04-30.. MW . .
. U/40x40x3-3000  40x40 3000 H/04-32-W
€ U/40x40x3-6000 H8/04-32-W
ALUMINIUM natural AL/U40x40x3-6000 3 6000 Mew
A/U50x50x3-3000 3000 Mhew H/53 -
raw  A/U50X50x3-6000 6000 H/o4-a2.. W Fe H/53-R9005 RAL 9005 e/
Fe U/50x50x3-3000  50x50 3000 H/04G-43 H/53-R7016 RAL 7016 e
U/50x50x3-6000 H/04L-42
ALUMINIM natural AL/U50x50x3-6000 6000 Mmew LEIEIEY raw  Hs/53 -

e

0
=
v
O
D
L
O
O
<

H/04G-43 Fe H/04L-35

raw  Hs/04-22-W AISI304 raw  Hs/04G-43 hew LEIE[ZY raw  H8/04L-35 new
130




[ X )

‘ Quality  Finish art. Color
H/37-60P -
H/37-60P-R9005 RAL 9005
H/37-60P-R7016 RAL 7016
H8/37-60P -

AL/RP6001-,

Quality Finish art. ‘
ALUMINUM  natural |AL/RP-6004-6000N el
- -
L o
E

Quality  Finish art. Color
H/10B-60x130 -
H/10B-60x130-R9005 RAL 9005
H/10B-60x130-R7016 RAL 7016
H8/10B-60x130 -

$

Quality  Finish art. max L
TS-C2-8-AL 8000 | e

‘ Quality  Finish art. Color
H/16-46x130
Fe H/16-46x130-R9005 RAL 9005

H/16-46x130-R7016 RAL 7016

LARIKL Y raw H8/16-46x130 -

Quality Finish art. ‘

| AlMNUM  natwral  H/O1PVC-ALK

‘ Quality Finish art. Gmax (kg) ‘
‘ NYLON raw H/01PVC-AL 300 ‘

‘ art. G max G opt ‘

‘ ROAD400-ZKIT 400kg 200kg ‘

131

N
o
o
O
7}
L
3
<




ANCORA

FiXInG!

»

# WS-Edelstahl |
Z Pflege-Spray &

» Bdetsahipfioge fix matte und paliertz Oberfichen
‘wirkt Wiedervarschmutzung estgegen

Metopart i inoyclable pour sustaces mates s
* Repousse be retour de la saleté

P TH R T T

SOSRRM
805 miger voor mate en gepofstecpperiz

e « Gaatterugherande vervling egem
-

".E *High gade ool maintan spay for it
::.. and polished surtactt

b = Provides reconamieatien
=

L SWRUHHONTHEI R

CLEANER &

for stainless railings 500ml




L .?‘?1‘
& N

A-DIN 914-A2 M5x5 5 DIN 7991 M8x20-Zn 8 20
AISI304 A-DIN 914-A2 M5x6 5 6 DINESMI2XE0.2 12 80
ADIN 914-A2 M5x8 s A-DIN 7991-A2 M5x12 12
A-DIN 7991-A2 M5x16 5 16
A-DIN 914-A2 M6x6 6 6
X A-DIN 7991-A2 M5x20 20
AISI316 A4-DIN 914 M5x5 5 5 ADIN 7991-A2 M6x8 s
A-DIN 7991-A2 M6x14 14
A-DIN 7991-A2 M6x16 16
A-DIN 7991-A2 M6x20 6 20
14 A-DIN 7991-A2 M6x40 40
‘f A-DIN 7991-A2 M6x60 60
ﬁ% A-DIN 7991-A2 M8x12 12
M10 A-DIN 7991-A2 M8x16 16
A-DIN 7991-A2 M8x30 30
raw | A-DIN 7991-A2 M8x35 8 35
A-DIN 7991-A2 M8x50 50 | Tew
AISI304 A-DIN 916-A2 M10x14 ADIN 7991-A2 M8x70 70
raw
AISI316 A4-DIN 916 M10x14 A-DIN 7991-A2 M8x80 so | Nnew
A-DIN 7991-A2 M10x35 10 35 | new
A4-DIN 7991 M5x16 5 16
A4-DIN 7991 M6x14 14
A4-DIN 7991 M6x40 6 40
A4-DIN 7991 M8x20 20
AISI316 A4-DIN 7991 M8x30 30
A4-DIN 7991 M8x70 8 70
A4-DIN 7991 M8x100 100 | ew
A4-DIN 7991 M10x20 10 20
A4-DIN 7991 M12x30 12 30
A-DIN 6334V M8x25-A2 8 1
raw lé
A-DIN 6334V M10x25-A2 10 13 t{ﬂ
DIN 7380 M10x20 8.8-Zn 10 20
A-DIN 7380-A2 M5x12
A-DIN 7380-A2 M6x12 12
A-DIN 7380-A2 M8x10 10
A-DIN 7380-A2 M8x12 8 12
A-DIN 7380-A2 M8x20
A-DIN 7380-A2 M10x20 10 20
raw
A-DIN 7380-A2 M12x20 12
B A-DIN 913-A2 M5x10 5
10 A4-DIN 7380 M5x12 12
A-DIN 913-A2 M6x10 5
6 A4-DIN 7380 M5x16 16
A-DIN 913-A2 M6x12 12
AISI316 A4-DIN 7380 M6x12 6 12
A-DIN 913-A2 M8x16 16
A4-DIN 7380 M8x20
A-DIN 913-A2 M8x20 20 20
A4-DIN 7380 M10x20 10
A-DIN 913-A2 M8x25 25
A-DIN 913-A2 M8x30 8 30
A-DIN 913-A2 M8x40 40
A-DIN 913-A2 M8x80 80 (@,
A-DIN 913-A2 M10x12 12
raw
A-DIN 913-A2 M10x35 10 35 '
A-DIN 913-A2 M10x100 100 i
A4-DIN 913 M5x5 5 o
A4-DIN 913 M5x10 s 8
10
A4-DIN 913 M6x10 6 A-DIN 912-A2 M5x20 5 5 '{u)
NSRS A4-DIN 913 M6x12 A-DIN 912-A2 M8x20 g 20 4 O
A4-DIN 913 M10x12 12 ray | A-DIN 912-A2 M10x45 10 45 10 MW <
A-DIN 912-A2 M12x25
A4-DIN 913 M10x16 10 16 Oz 12 ;2 13
A4-DIN 913 M10x55 55 AISI316 A4-DIN 7984 M8x12 8 12 5  hew

133



0
=
v
O
D
L
O
O
<

AISI316

AISI316

raw

DIN 933 M10x30 8.8-Zn

A4-DIN 933 M10x30

A14/08-WASHER

steel 8.8 Zn W-DIN 7991 M8x20-P
AISI316

AISI316

134

raw

W-DIN 7991-A4 M8x20-P

DIN 125 10-Zn
DIN 9021 10-Zn
WIT-SHB M8-Zn
WIT-SHB M10-Zn
WIT-SHB M12-Zn
A-DIN 125-A2 M5
A-DIN 9021-A2 M8
A-DIN 125-A2 M8
A-DIN 125-A2 M10
A-DIN 125-A2 M12
A-DIN 433-A2 M12
A4-DIN 9021 M8
A4-DIN 9021 M16
A4-WIT-SHB M8
A4-WIT-SHB M10
A4-WIT-SHB M12

?21.8

Q

8,4
17

12

2,5

2,5
1,6

2,5

2,5

AISI304 raw

raw

AISI316

AISI304 raw

AISI304

raw

AISI316

»

’

A-DIN 917 M8

A-DIN 917 M10

A-DIN 439B-A2 M8
A-DIN 934 M8
A-DIN 934 M10
A-DIN 934 M12
A-DIN 934 M16
A4-DIN 439B M8
A4-DIN 934 M10

A-DIN 562 M6
A-DIN 562 M8
A-DIN 562 M10

9

A-DIN 1587-A2 M6
A-DIN 1587-A2 M8
A-DIN 1587-A2 M10
A-DIN 1587-A2 M12
A4-DIN 1587 M10

A-DIN 7504K 5,5x25

12
16

10

10
13
17

5,5

6,5

10
13

3,2

5

12
15
18
22
18

25



A-DIN 9210 M6x60-A2 6

60 20 37 -
A-DIN 9210 M8x60-A2
kX2 20 GIEEE ADIN 9210 M8x100-A2  ° 0o 42 48 v
raw A-DIN 9210 M10x100-A2 10 30 57
(A Bk 35 faW " A4-DIN 9210 M6x100 6 100 v
AISI316 A4-DIN 9210 M8x60 g 60 20 37 -
A4-DIN 9210 M8x100 100 42 48
v o o
A4-DUAL M6/M 6
A-DIN 7505A 5x20 20 INES  raw VAL Mo/Me 65 30 30 v ew
AISI304 el A4-DUAL M10/M10 10
A-DIN 7505A 5x35 35
Q5/08-VM250-M10-... 10 hew
Q5/08-VM250-M12-... 12 /
A-DIN 975 M6 6
A-DIN 975 M8 8
AISI304 A-DIN 975 M10 10 1000 .
A-DIN 975 M12 12
A-DIN 975 M16 16 Mnew
A4-DIN 975 M10 o
AISI316 A5/08-VM250-M10-..-A4 ; mew
% A5/08-VM250-M12-.-A4 12
A-DIN 975 M8-100 100
‘ raw | ADIN 975 M8-120 g 120
A-DIN 975 M8-150 150
A-DIN 975 M8-200 200
A-DIN 975 M10-100 100
A-DIN 975 M10-120 0 120 . ew
A-DIN 975 M10-150 150
AFTT-M5 5 e A-DIN 975 M10-200 200
A-DIN 975 M12-100 100
AISI304 [T Lk 6 14 A-DIN 975 M12-120 p 120
A-FTT-M8 8 16,5 A-DIN 975 M12-150 150
e 10 19 A-DIN 975 M12-200 200

0

WOOD/M8-D 8
steel
WOOD/M10-D 10

N
o
o
O
7}
L
3
<

135



M
Q5/08-HAZ-M8-80SK/S 80 20,5/5 Q11/FPX-M8 8
steel Q5/08-FH12-50 raw
Q5/08-12-125 125 22/58 | 40 oty Q11/FPX-M10 10
A5/08-HAZ-M8-
PO A5/08HAZMBBOSK/A4 80 20,5/
A5/08-12-125 125 22/58 |NEW
S S
(
' 12
M8

A5/08-105x11xM8 m Q5/08-TNTRO8-8x52

A14/08-105x11xM8

40

©13,8
M8

m Q5/09-Quick-Fix QF5 steel Q5/08-FAZ-IG-M10-70/S

AISI316 raw  A5/08-FAZ-IG-M10-70/A4

i :
O '
ﬂ A19/04-PVC A19/04-PVC-L A19/04-PVC-BLACK
(@]
e
raw  A19/04-PVC Q5/07-8 NYLON 8 254 40
PVC  polish A19/04-PVC-L gray | Q5/07-10 NYLON 10 36 50
Q5/07-12 NYLON 12 48 60

black A19/04-PVC-BLACK

136



Q5/08-BS-S-10-90/S A19/27-M8 8 11

10 90 140 15
AISI316 A5/08-BS-S-10-90/A4 AISI304 raw  A19/27-M10 10 13
Q5/08-BS-S-12-110/S A19/27-M12 12 130 15 25
12 110
AISI316 A5/08-BS-S-12-110/A4
Ty
Q5/06-8x100CE 8 92 Q5/08-HAZ-M8-85S/S 8 85 12 20/7,5
Q5/06-10x120CE 10 120 Q5/08-FH15/25 S 89
10 15 25/9,5
Q5/08-FBN12-30 12 126 Q5/08-HAZ-M10-106S/S 106
Q5/06-16x123CE 16 123 A5/08-HAZ-M8-85S/A4 8 85 12 20/7,5
Q5/06-16x138CE 16 138 A5/08-HAZ-M10-106S/A4 10 106 15 25/9,5
AISI304 A-Q5/06-10x120CE 10 120
A12/12-PVC A12/12-35-PVC
Q5/08-VI-IG-M8-100/S 8 100 12 pVC PR A 12/12-PVC il
A12/12-35-PVC A12/12-35-PVC

Q5/08-VI-IG-M10-80/S 10 80 16
Q5/08-VI-IG-M12-125/S 12 125 20
A5/08-VI-IG-M8-100/A4 8 100 12
AISI316 A5/08-VI-IG-M10-80/A4 10 80 16

A5/08-VIHIG-M12-125/A4 12 125 20

N
o
o
O
7}
L
3
<

137



BCR 400
LUS

Q5/01GF-300 Nordic o . Q5/01B-300 -10°C +40°C Q5/01GFP-300 . .
Q5/01GF-400 Nordic 20°C H0°C Q5/01B-400 vinylester 106 +a0c VW Qcioiarpaop  Fovester 5°C30°C
g:;glgiigg 10°C +30°C Q5/01B-400 Winter -20°C +20°C
||
Q5/04-250
Q5/05TR-310 Silicone -5°C +40°C Q5/01-WIT-UH300... 320 Vig%’g{‘er -5°C +40°C Q5/04 17 215
Q5/04-250 8 250 MewW

Q5/01-WIT-VM250... 300 vinylester -10°C +40°C

Q5/03-300 300ml, hobby Q5/03-400 400ml, profi Q5/01-16x130 mesh

0
=
v
O
D
L
O
O
<

138



Q5/02 blow pump ‘09/03-3x12 3 12 16,5 Q9/03-0,2x9 0,2 9 50

Q9/03-0,5x9 05 9 33
Q9/03-2x6 2 6 16,5 1AW

'Q1/BO2INOX 345 Pipe cutting |Q1/BO2-INOX-RK Q1/B02-INOX

w raw  A19/model741-8

N
o
o
O
7}
L
3
<

139



TECTANI

REZNY
AVRTAEi

OLEJ

Q/INOX-INSTALL-SET

Mnew
Q/INOX-INSTALL-SET 1x - 1x 1x 1x
1x 1x —_—
Q/INOX-INSTALL-SET-B - 1x 1x 2x 2x 2x
Rezny kotué
Cutting disc
e E &'
e o0
. o soms X=1:)
R®I
www.rollkit.eu
Q1/Go1 360 | Q1/RNO1-125x1 ‘ Q1/L01-125-40 \
Q1/L01-125-60 e
Q1/RNO1-150x1,6 cutting disc ‘ / flap disc ‘
ew Q1/L01-125-80 \
Q1/RN01-230x2 ‘ Q1/L01-125-120 |

@Muw-zom,sn,s

Hhew Hrew
| |

‘ Q8/LP-7x4,5 riveting punch 2 steps Q8/LP-7x4,5-B riveting punch 1 step ‘ HSS-TiN A-DRILL-D4-20 metal 4-20

f) el )

7
7/
r

n
= ?
o
(==}
3 |
Q8/95 4 4 3
8 | as/ 6 5 3
8 6 4,5
X A-DRILL-M5 5 4 \ A/FDRILL-M5C 5 0 65 5.
\ Hssg A/FDRILL-M6C 6 c M o T3 o
HSS-CO5 A-DRILL-M6 6 4.8 | A/FDRILLMBC N R Rt
A-DRILL-M8 8 64 \ A/FDRILL-M10C | 10 % 1 1os

140



CA/ACTIVATOR CA/LAK

CA/ACTIVATOR corten effect m A/spray-WS 400 INOX A/Cleaner-500ml 500 INOX ‘
CA/LAK 1000 lacquer for
corten

LOCTITE.
SF 7649
[ cvmror

TECTANE

L@CTITE. REZNY

638 =

AVRTAEI
OLEJ

A/GLUE-577-50g A/GLUE-638-10g A/GLUE-638-50g W
A/GLUEST7-509 50 04 hew A/ACTIVATOR-500mI 590 for A/Glue.. J08/08  cuting/diling 400
o]
A/GLUE-638-10g 10 (45. contains M\W '
' activator
A/GLUE-638-50g 50 0.25 |
A/GLUE-403-20g  A/GLUE-20g
A/GLUE-10gC 10 0.2 INOX A/GLUE-20g 2o 02 alpr oste\ A/GLUES0GC 02 INOX
A/GLUE-403-20g sperias \ A/GLUE-50g-D 0,4 INOX
%)
w
o
O
‘ @
new new new 8
‘ <
Q5/05-MAMUT 290 instant fix GS/Cleaner-Glass 200 ‘ GS/Cleaner-Metal 200

141



FORGED COMPONENTS > GATE ACCESSORIES & GATE AUTOMATION
SYSTEMS I ALUMINIUM FENCE
I SYSTEMS

Qumakov 2 % 2 02 3 umako2024/2025 172024

kat-Forged-2024/25 kat-Gates-2024/25 kat-Automations-2023/24 KAT-ALU-SYSTEMS-2024/25

GLASS SYSTEMS SOLAR

MOUNTING
SYSTEMS

FRAMELESS GLASS POST RAILINGS

RAILINGS

umakov 2024/2025

KAT-GLASS RAILINGS-2024/25 KAT-POST RAILINGS-2024/25 KAT-GLASS SYSTEMS-2024/25 KAT-SOLAR-SYSTEMS-2024/25

S
| —
—
——

%)
=
o
O
%)
I
0
<




\ .,., \ ,.,, \ ,,. \ ..,. ,,,. ,,,., .,.,, .,.. ,..,. \ \ \ \ .,.,_ A\ ,.,, A\
7 \\\
y o
.v.,v. bq
y
/
.\,.‘
y
[
A
I/

®

alomkit




0
4
o
O
D
T
O
O
<

AISI304 AISI316

S.S. 2205

AISI304

AISI316 | s,

INOX

AISI304 AISI3

Pay v |

AISI304 AISI316

x|

S.S. 2205

o/

AISI304

AISI316*

AISI304 AISI316 | s.S. 2205

-
. Em = = = 1]
A 04
- nerezova ~ stal rozsdan:lentes stainless Edelstahl INOX
ocel nierdzewna aceél steel
0
OR corten ocel corten stal corten acél corten steel Cortenstahl corten
hlinik aluminium aluminium aluminium Aluminium aluminium
zliatina stop cynku i Zn+Al . alliage
Zn+Al aluminium Btvézet ZAMAC  Zinkdruckguss Zn+Al
e Zelezo zelazo vas iron Eisen fer
2 zinok cynk cink zinc Zink zinc
7]
=
E mosadz miedz sargaréz brass Messing laiton
PVC polyvinyl chloride
PETG polyethylene terephthalate glycol
Rubber guma guma gumi rubber Gummi gomme
buk buk blikk beech Buche hétre
dub dab tolgy oak Eiche chéne
Spruce smrek Swierk lucfeny6 spruce Fichte épicéa
VSG/ESG sklo szkio liveg glass Glas verre
et brus szlif szaélcsiszolt brushed geschliffen brossé
K320 K320 K320 K320 K320 K320
silver strieborny srebro ezust silver Silber argent
- . tlkor ) ) )
é polish lesk polerowany polirozott polished poliert poli
% surovy surowy nyers raw roh brossé
[}
£ nebruseny neszlifovany natar rough ungeschliffen non-brossé
INOX nerez nierdzewny rozsdamentes inox Edelstahl inox
ELOX eloxovany anodowany eloxalt elox Eloxiert anodisé
{ﬁ potrebné niezbedne szlikséges necessary Anpassung ist modification
J Upravy przystosowanie ~ modositas modification notwendig nécessaire
3 nezmontované | nieziozone nem not unmontiert non
not bsszeszerelt assembled assemblé
priblizny przyblizone approximate die Abmes- dimensions
=~ . kozelité méretek N . sungen sind S
rozmer wymiary dimension . approximatives
ungefahr
bestseller bestseller legjobban best seller Bestseller best-seller
eladott
Mnew novinka nowosé Gj new Neuheit nouveau
F.._a RAL color

PVD = (physical vapor deposition) coating

PVD-L = polished surface finish

LS

LED

TEST / CERTIFICATE

L Es Faculty of Ci
- STATIC STUDIO @ Lopiid i

Gamin

corrosion test report]

<< RISE

INFRAPROJEKT s.c.

INOX AISI 304

- vhodny do prostredia bez chléru a oxidu siri¢itého

INOX AISI 316

- vhodny do prostredia s vysokym obsahom chléru, oxidu siri¢itého,
vysokej vihkosti, do primorskych regiénov

INOX S.S. 2205- vhodny do prostredia s vysokym obsahom chléru,
oxidu siri¢itého, vysokej vihkosti s pritomnostou soli na pobrezi a na
volnom mori.

INOX AISI 304

- suitable for the environment without chlorine and sulphur dioxide
load

INOX AISI 316

- suitable for the environment with a high content of chlorine, sulphur
dioxide load, high humidity, coastal regions

INOX S.S. 2205

- Suitable for environments with a high content of chlorine, sulfur
dioxide, high humidity with salt on the coast and on the high seas.

INOX AISI 304

- przeznaczone dla srodowiska bez dwutlenku siarki oraz chloru
INOX AISI 316

- przeznaczone dla $rodowiska o wysokiej zawartosci dwutlenku siarki
oraz chloru, wysokiej wilgotno$¢ oraz w regionach nadmorskie

INOX S.S. 2205

- Nadaje sie do srodowisk o wysokiej zawartosci chloru, dwutlenku
siarki, o wysokiej wilgotnosci, o duzym zasoleniu, w strefach nadmor-
skich, lub w bezposrednim kontakcie z wodg morska.

INOX AlSI 304

- alkalmazhaté olyan kérnyezetben, ahol nincs klor és kén-dioxid
terhelés

INOX AISI 316

- alkalmazhaté olyan kérnyezetben, ahol magas a klér-, vagy kén-
dioxid terhelés, magas a paratartalom, tengerparti régidkban
INOX S.S. 2205

-,Alkalmazhat6é magas klor-, kén-dioxid-, sés nedvességtartalmu
kérnyezetben, valamint tengerparton és a nyilt tengeren*.

INOX AISI 304

- geeignet in Umgebung ohne Chlor und Schwefeldioxid

INOX AISI 316

- geeignet in Umgebung mit einem hohen Gehalt an Chlor, Schwefel-
dioxid oder in Umgebung mit hoher Luftfeuchtigkeit, in Klistenregi-
onen

INOX S.S. 2205

- geeignet fiir Umgebungen mit hohem Gehalt an Chlor, Schwefeldi-
oxid und hoher Luftfeuchtigkeit mit Salz an der Kiiste und auf hoher
See

INOX AISI 304

- Convenable pour les environnements sans chlore et/ ou bioxyde
de soufre

INOX AISI 316

- Convenable pour les environnements avec un contenu élevé de
chlore et/ ou de bioxyde de soufre, une grande humidité, régions
maritimes

INOX S.S. 2205

- Convenable au milieu avec un contenu élevé du dioxyde de soufre,
ainsi qu‘au milieu humide contentant du sel, tel que le bord de mer ou
la mer ouverte.

tﬁh
Qumakov

144



